H2 Chhatisgarh

Notice for appointment of Regular / Rural Retail Outlet Dealerships Indian Oil Corporation Limited proposes to appoint Retail Outlet dealers in Chhatisgarh , as per following details:

SI.No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		n Domens ge of Site (arranged by the olicant	Mode of selection	Fixed Fee / Min bid amount	Security Deposit
1	2	3	4	5	6	7		8	1	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC/ SC CC 1 /SC PH/ST/ ST CC 1 /ST PH/OBC/ OBC CC 1 /OBC PH/ OPEN/ OPEN CC 1 / OPEN CC 2/ OPEN PH	CC/ DC / CFS	Front age	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots/ Bidding		
1	Between Mile Stone Number 37 To 41 on SH 7 (Durg Balod Highway)	Balod	Regular	100	ST	CFS	35	35	1225	0	0	Draw of lots	0	3
2	Between mile Stone 52 To 57 on SH 7 (Durg Balod Highway)	Balod	Regular	100	ST	CFS	35	35	1225	0	0	Draw of lots	0	3
3	At Gunderdehi On SH 7 (Durg Balod Highway)	Balod	Regular	100	ST	CFS	35	35	1225	0	0	Draw of lots	0	3
	On Rajpur Kusmi Road Within 2 Kms From Shankargarh Police Station towards Rajpur on SH 12	Balrampur	Regular	100	ST	CFS	35	35	1225	0	0	Draw of lots	0	3
5	Reelo to Hati on NH 130A	Raigarh	Regular	150	sc	CFS	35	35	1225	0	0	Draw of lots	0	3
6	Within 2 Kms From State Bank of India office Arang main Branch at Arang (Not On higway)	Raipur	Regular	100	ST	CFS	20	20	400	0	0	Draw of lots	0	3
7	Within 1 Km From Punjab National Bank main branch at Basna (Not On Highway)	Mahasamund	Regular	150	ST	CFS	20	20	400	0	0	Draw of lots	0	3
8	Within 3 Km From Bagbahara Railway Station (not on NH)	Mahasamund	Regular	100	ST	CFS	20	20	400	0	0	Draw of lots	0	3

9	Between Milestone No.6 To Milestone No 10 On NH 353 ON LHS while moving from NH53 to Mahasamund (Raipur Mahasamund Khariar Road Highway)	Mahasamund	Regular	150	sc	CFS	35	45	1575	0	0	Draw of lots	0	3
10	Between Bharatmata Chowk and Kali Mandir via Pahadi Chowk within Raipur Municipality	Raipur	Regular	150	ST	CFS	20	20	400	0	0	Draw of lots	0	3
11	Wthin 4 Kms on LHS from Dhaneli Bus stop towards Jagdalpur on NH 30 (Vijayawada Jagdalpur Highway)	Raipur	Regular	150	sc	CFS	35	45	1575	0	0	Draw of lots	0	3
12	At Bhatgaon on NH 30 (Vijayawada Jagdalpur Highway)	Raipur	Regular	150	ST	CFS	35	45	1575	0	0	Draw of lots	0	3
13	Nahar Link Road (CM Bunglow Jail Road) towards Bhagat singh Chowk	Raipur	Regular	150	ST	CFS	20	20	400	0	0	Draw of lots	0	3
14	On LHS from Pachpedi Naka Chowk to Lalpur Wholesale Fruit Market on NH 30 (Vijayawada Jagdalpur Highway)	Raipur	Regular	150	ST	CFS	20	20	400	0	0	Draw of lots	0	3
15	From Dhaudhai chowk to Becha on SH 5	Narayanpur	Regular	100	ST	CFS	35	35	1225	0	0	Draw of lots	0	3
16	Jagdalpur within Municipal Limit -2	Bastar	Regular	100	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
17	Between Kharsia To Choda on NH 130 A	Raigarh	Regular	150	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
18	Upto 3 Km on LHS from Dharamjaygarh Electric Sub Station towards Hatti on Dharamjaigarh Hatti Road on NH 130A	Raigarh	Regular	150	ST	CFS	35	35	1225	0	0	Draw of lots	0	3
19	At village Chotte Sipat on SH 16	Janjgir	Regular	100	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
20	From Birra chowk towards Bhatgaon on SH 9	Janjgir	Regular	100	ST	CFS	35	35	1225	0	0	Draw of lots	0	3
21	Within 3KMs from Birra Chowk towards Sheori Narayan on SH 9	Janjgir	Regular	100	ST	CFS	35	35	1225	0	0	Draw of lots	0	3
22	Within 4 Km From Chhatisgarh Gramin Bank Buiding at Jatga towards Pasan On Jatga Pasan Road on SH	Korba	Regular	100	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
23	Within 3 KM from Kalua Chowk towards Ramanuj Nagar	Surajpur	Regular	100	ST	CFS	35	35	1225	0	0	Draw of lots	0	3

	T				1				1			1		
24	Jhal From Mile Stone Km. 10 To 12 Towards Bilha Road Tehsil Bilha	Bilaspur	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
25	Within 3KMs from Ghoramar police station within Ghoramar village Tehsil Ghormar	Bilaspur	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
26	Within village Ratanpur on Kota Ratanpur Road Tehsil Kota	Bilaspur	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
27	Jairam Nagar Tehsil Masturi	Bilaspur	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
28	Village Harharpani Tehsil Bhanupratapur	Kanker	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
29	5 Kms Either Side Of Shiv Mandir Bhansi On Bacheli Marg Tehsil Dantewada	Dantewada	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
30	Within 4 Km from Bazaar Chowk in village Kusmi Tehsil Berla	Bemetara	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
31	At Village Nigarbandh Tehsil Takhatpur	Bilaspur	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
32	At village Chakarbhata Tehsil Bilha	Bilaspur	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
33	At Village Dubatia (Pendra) Tehsil Pendra	Bilaspur	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
34	At village Sakuli Tehsil Marwahi	Bilaspur	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
35	At Village Bartori tehsil Bilha	Bilaspur	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
36	At village Pipartarai Tehsil Kota	Bilaspur	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
37	At Village Chorbhatti Tehsil Takhatpur	Bilaspur	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
38	At Village Jogipur Tehsil Kota	Bilaspur	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2

39	At Vilage Birkona Tehsil Bilaspur	Bilaspur	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
40	Within 1 Km from Shiv Prasad Nagar Railway Station Towards Patna On Patna Road Tehsil Bhaiyyathan	Surajpur	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
41	Makrandipur Tehsil Ramanujnagar	Surajpur	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
42	Ropakhar Tehsil Mainpath	Surguja	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
43	Jhargawan (Towards Chiranga Mod) Tehsil - Batauli	Surguja	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
44	Karamtikra (not on Highway) Tehsil - Pathalgaon	Jashpur	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
45	On Kawardha Lohara Bypass Tehsil Kawardha	Kawardha	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
46	Vill Maharajpur (On Kawardha Rajnandgaon Road) Tehsil Kawardha	Kawardha	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
47	Nai Ledari Tehsil Manendragarh	Koria	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
48	At Village Koda Tehsil Khadgawan	Koria	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
49	Village Katkona Tehsil Baikunthpur	Koria	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
50	Within Gram Panchayat Limit Latma Tehsil Sonhat	Koria	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
51	At Farsakoni on NH 43 (Raigarh Jashpur Highway)	Raigarh	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
52	Within 3 Km from Kansabel Chowk towards Jashpur on NH 43	Jashpur	Regular	150	OBC	СС	35	35	1225	25	10	Bidding	30	4
53	Between Km Stone No 21 to 26 on Ambikapur Ramanujganj Raod (NH 343)	Balrampur	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3

54	Between Jashpur Chowk Kusmi and Tehsil office Kusmi on SH	Balrampur	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
55	Between Km stone no 72 and 74 on NH343 (Ambikapur Ramanujganj Road)	Balrampur	Regular	150	Open	СС	35	35	1225	25	10	Bidding	30	5
56	Within 5 Km From Police Station Balrampur On NH343	Balrampur	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
57	Between Km Stone No 102 to 105 on NH 343	Balrampur	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
58	WITHIN 5 KM FROM RAMANUJGANJ ENTRANCE GATE TOWARDS AMBIKAPUR ON NH 343	Balrampur	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
59	Within 3 km from Gandhi Chowk Rajpur towards Kusmi on LHS On SH (Rajpur Kusmi Road)	Balrampur	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
60	WITHIN 2 KM FORM PREM NAGAR T POINT ROAD ON WADRAFNAGAR RAMANUJGANJ ROAD	Balrampur	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
61	Within 1 Km From Kargil Chowk Towards Lawakera on SH	Jashpur	Regular	100	Open	СС	35	35	1225	25	10	Bidding	30	5
62	Within Municipal limit of Baikunthpur not on NH/SH	Koria	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
63	On NH343 (Ambikapur Ramanujganj road) Within 5 Km from Gandhi chowk Rajpur	Balrampur	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
64	Within 2Kms From Hanuman Mandir At Chandarpur on LHS while going from Bagbahara to Khariar road On NH 353 (Raipur Mahasamund Khariar Road Highway)	Mahasamund	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
65	Within Municipal limit of Ambikapur (not on NH or SH)	Balrampur	Regular	150	Open	DC	20	20	400	25	45	Draw of Lots	15	5
66	Between Kadam Chowk and Primary School Godhikala on NH 43	Jashpur	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
67	Within 3 KMs from NH 43 and Bypass Road junction towards Manpur and Chandrapur junction on Surajpur Bypass Road	Surajpur	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
68	Within Municipal Limit of Kunkuri ON NH	Jashpur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5

69	Between KM Stone No : 530 to 534 on NH 43(Pathalgaon Jashpur road)	Jashpur	Regular	150	Open	СС	35	35	1225	25	10	Bidding	30	5
70	At Village Silphili on 43 (Ambikapur Surajpur Road)	Surajpur	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
71	Within 3 Km From Baikunthpur Parshurampur Chowk Towards Ramnujnagar On Surajpur Ramanujnagar Road	Surajpur	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
72	Within 2 Km From Chattisgarh Vipanan Office Pathalgaon Towards Ambikapur On NH43	Jashpur	Regular	150	Open	СС	35	35	1225	25	10	Bidding	30	5
73	On RHS between PWD Bridge (Rajendra Nagar) On NH 53 (Ring Road 1) to Jai Jawan Petrol Pump by katora talab within Raipur Municipality	Raipur	Regular	150	Open CC 2	DC	20	20	400	25	60	Draw of Lots	15	5
74	From make in India square to Jai Jawan Petrol pump on LHS within Raipur Municipality	Raipur	Regular	150	OBC CC 1	DC	20	20	400	25	60	Draw of Lots	15	4
75	Village Bisanpur On Gidhauri Bhatgaon Road on NH 130B	Balodabazar	Regular	150	ST CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
76	Within Municipal Limit of Jashpur nagar not on NH/SH	Jashpur	Regular	100	Open	СС	20	20	400	25	10	Bidding	30	5
77	Within 3 Km From Gram Panchayan Bhavan Bishunpur Towards Ambikapur On NH43(Manedragrah Ambikapur Road)	Koria	Regular	150	Open	СС	35	45	1575	25	10	Bidding	30	5
78	Within 1 Km From Bank Of Baroda Bithhikala Towards Ambikapur On Bilaspur Ambikapur Road NH130	Surguja	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
79	Between Central Bank of India at Pathalgaon to Bhagat Colony Pathalgaon on NH 43	Jashpur	Regular	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
80	Within 2 Km From Mahamaya Chowk On Khadgawan Chotia Road	Koria	Regular	100	Open	СС	35	35	1225	25	10	Bidding	30	5
81	Between Bhagat Singh junction and Lalpur Bridge On Manedragarh Bus Stand Road	Koria	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
82	Within 2 km from Adim Jati Seva Sehkari Samiti Maryadit Sumerpur Towards Ambikapur on NH43	Surguja	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
83	WITHIN 2 KM FROM PATNA AMBIKAPUR BHAIYYATHAN T POINT TOWARDS BHAIYYATHAN ROAD	Koria	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5

84	Within 3 Kms from Maharajpur Junction with NH 43 towards Ambikapur On NH43	Koria	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
85	Within 3 KM from Ambedkar Chowk Mahora towards Surajpur ON NH43	Koria	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
86	Within 2 km from bagicha batauli chowk towards Ambikapur on NH43(Katni Ghumla road)	Surguja	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
87	From make in India square to Jai Jawan Petrol pump on RHS within Raipur Municipality	Raipur	Regular	150	Open CC 1	DC	20	20	400	25	60	Draw of Lots	15	5
88	Within 3 Kms from Bilaspur Chowk in Ambikapur Town Towards Lakhanpur On Ambikapur Bilaspur Road (NH 130)	Surguja	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
89	Within 2 KMs From Baneya junction on NH 43 towards Pathalgaon	Surguja	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
90	Within 4 Kms from Police Thana Chandora on Ambikapur Banaras Road Towards Wadrafnagar on RHS	Surajpur	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
91	Within 3 Km From Manav Dhaba Latori Ambikapur Banaras Road	Surajpur	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
92	Within 3 km from Shiv temple badsara on Patna Bhaiyyathan road	Koria	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
93	Within 3 km from Navin engineering workshop (unit 2) towards Kunkuri on NH43 (Katni Ghumla Road)	Jashpur	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
94	Within 2 Km from Atem River Bridge Brahampur Towards Surajpur on Prem Nagar Tara Surajpur Road	Surajpur	Regular	100	Open	СС	35	35	1225	25	10	Bidding	30	5
95	Within 3 Km From Subhas Chowk Ramanujnagar On Ramanujnagar Surajpur Road	Surajpur	Regular	100	Open	СС	35	35	1225	25	10	Bidding	30	5
96	Within 3 km from Ratanpur Tpoint on SH (Chotia baikunthpur Road)	Koria	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
97	Between Mahamaya cold storage Manderagarh and chainpur Jail Tiraha on NH43(Manedragarh Ambikapur road)	Koria	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
98	Within 3 Km From Mahan 2 junction towrads Songara On Ambikapur Banaras Road	Surajpur	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5

99	Within 1 Km From NH 43 and Bypass Road Intersection (Mata Karma Chowk) towards Mahgawan On Surajpur Bypass Road	Surajpur	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
100	From Jai Jawan Petrol pump to Ghadi chowk on LHS within Raipur Municipality	Raipur	Regular	150	ОВС РН	DC	20	20	400	25	60	Draw of Lots	15	4
101	From Jai Jawan Petrol pump to Ghadi chowk on RHS within Raipur Municipality	Raipur	Regular	150	ST PH	CFS	20	20	400	0	0	Draw of Lots	0	3
102	Within 5 Km From Jarhi Bus Stand On Ambikapur Banaras Road	Surajpur	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
103	within 3 km from Subhas Chowk Surajpur towards Manedragarh on NH43	Surajpur	Regular	150	Open	СС	35	45	1575	25	10	Bidding	30	5
104	Within Nagar Panchayat limit of Jarhi not on NH/SH	Surajpur	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
105	Within 3 Km From Kaluwa Chowk Krishnapur On NH43	Surajpur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
106	Between Mahamaya Chowk To Ramnujganj Chowk Within Municipal Limit Ambikapur	Surguja	Regular	100	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
107	Within 3 Km From Udaipur Police Station Towards Ambikapur On NH130 (Bilaspur Ambikapur Road)	Surguja	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
108	Within 5 km from Baikunthpur railway station on NH43 towards Baikunthpur on NH43(Mnedragarh Ambikapur road)	Koria	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
109	On NH43 (Ambikapur Pathalgaon Road) Wihin 3 Km From Pratapgarh Chowk towards ambikapur	Surguja	Regular	150	Open	СС	35	35	1225	25	10	Bidding	30	5
110	Within 2 Km From SBI Kiosk Point Raghunath Nagar Towards Wadrafnaagr On Wadrafnagar Raghunathnagar Road	Balrampur	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
111	Within 3 km from Indian overseas bank gamhariya towards Pathalgaon on NH43(Pathalgaon Jashpur road)	Jashpur	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
112	Within 10 Km from Batauli bagicha Chowk On NH43(Ambikapur Pathalgaon Road) towards Pathalgaon	Surguja	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
113	Village Sarora on Sarora main road within Raipur Municipality	Raipur	Regular	150	Open CC 1	DC	20	20	400	25	60	Draw of Lots	15	5

	·										1			
114	Within Nagar Panchayat limit sitapur not on NH/SH	Surguja	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
115	Within 3 km from Govt School Shiv Nagar towards Ambikapur on NH 130 (Bilaspur Ambikapur Road)	Surguja	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
116	Within 10 Km From Kharsiya Chowk Ambikapur Towards Pathalgaon On NH43 (Ambikapur Pthalgaon Road)	Surguja	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
117	Within Ambikapur Municipal Limit not on NH/SH	Surguja	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
118	Within nagar panchayat limit of bhatgaon Not on NH/SH	Surajpur	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
119	Within 5Kms From Ambedkar Chowk Towards Varanasi On Ambikapur Varanasi Road	Surguja	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
120	Within 3 Km From Govt Community Health Centre Udaipur Towards Ambikapur on NH 130 (Bilaspur Ambikapur Road)	Surguja	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
121	WITHIN 3 KM FROM CNETRAL BANK ON INDIA LEHPATRA ON NH130(AMBIKAPUR Bilaspur ROAD)	Surguja	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
122	Between KM stone No 372 and 369 on NH 43 (Ambikapur Manendragarh Road)	Surajpur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
123	On kachna road from Ashoka tower chowk to Archaeological Survey of India on LHS within Raipur Municipality	Raipur	Regular	150	OBC CC 1	DC	20	20	400	25	60	Draw of Lots	15	4
124	On kachna road from Ashoka tower chowk to Archaeological Survey of India on RHS within Raipur Municipality	Raipur	Regular	150	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
125	Raipur city 5 within municipal limit	Raipur	Regular	150	Open PH	DC	20	20	400	25	60	Draw of Lots	15	5
126	Karmitikra on NH 43 (Ambikapur Highway road)	Jashpur	Regular	150	OBC	СС	35	35	1225	25	10	Bidding	30	4
127	Within Shivpur charcha Municipal not on NH/SH	Koria	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
128	Within 3 Km From Charaidand Junction with NH 43 towards Kunkuri On NH 43	Jashpur	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3

	·								,					
129	Within Jashpurnagar municipal limit on SH	Jashpur	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
130	Within Municipal limit of Surajpur not on NH/SH	Surajpur	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
131	Within municipal Limit of Ambikapur on SH	Surguja	Regular	100	Open	СС	35	35	1225	25	10	Bidding	30	5
132	Within 3 Km From Pratappur Naka Towards Pratappur On Ambikapur Ptratappur Road	Surguja	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
133	Within 2KMS from Kapu Chwok Mission School on NH 43 (Pathalgaon Ambikapur Highway)	Jashpur	Regular	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
134	Within Municipal limit of Pratappur not on NH/SH	Surajpur	Regular	100	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
135	Within 5 km from Police station Jai Nagar Police station towards Ambikapur on NH43(Ambikapur Manedragarh Raod)	Surajpur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
136	Raipur city 8 within municipal limit	Raipur	Regular	150	Open CC 1	DC	20	20	400	25	60	Draw of Lots	15	5
137	Within Nagar Panchayat limit of Jhagrakhad not on NH/SH	Koria	Regular	100	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
138	Within Nagar Panchayat limit of Kotba not on NH/SH	Jashpur	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
139	Within Kusmi Nagar Panchayat limit not on NH/SH	Balrampur	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
140	Within 5 km from Chhattisgarh Rajya Gramin Bank Salhi on NH130(Ambikapur Bilaspur Raod)	Surguja	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
141	Within Nagar Palika limit of balrampur not on NH/SH	Balrampur	Regular	100	ОВС	СС	20	20	400	25	10	Bidding	30	4
142	Within 3 Kms from Mission Chowk on NH 343	Surguja	Regular	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
143	Within 3 km from Junction NH43 and Ludeg farsabahar road on NH43(Pathalgaon Jashpur road)	Jashpur	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5

144	Within 2 Km from New Govt Hospital Ramanujganj on Bypass road towards Ambikapur	Balrampur	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
145	Within Nagar Panchayat limit of Rajpur not on NH/SH	Balrampur	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
146	Between Km stone no 45 and 48 on Rajpur Kusmi road SH12	Balrampur	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
147	Between km stone no 330 and 332 on NH43(katni gumla road)	Koria	Regular	150	Open	СС	35	45	1575	25	10	Bidding	30	5
148	Within Manedragarh Municipal Limit on NH 43	Koria	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
149	Within 1 km from Saraitola chowk towards kotba on Kotaba Lawakera road	Jashpur	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
150	Within Nagar Panchayat limit Bishrampur not on NH/SH	Surajpur	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
151	Between Surya Mall And Avanti Bai Chowk On Junwani Road	Durg	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
152	Maharaja Chowk Durg to St Xavier Secondary School on Borsi Dhanora Road.	DURG	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
153	Between BEC Foods & Amul Milk Processing Plant And Anda Police Station On SH 7 (Durg Dallirajhara Road)	DURG	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
154	Between college of Vetenary science and pleasure club on LHS towards Rajnandgaon	DURG	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
155	Jail Tiraha To Govt Shaheed Venkatrao College Durg On Utai Road	Durg	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
156	Malviya Nagar Chowk to Hindi Bhawan on Durg Dallirajhara Road	Durg	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
157	Between Dr Rajendra Prasad Chowk and Bank of India Supela Branch	Durg	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
158	On LHS From Dabrapara Chowk To Kusum Chemicals Canal Road Industrial Area Bhilai	Durg	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5

159	Within 4 kms from Ahiwara towards Murmunda on Ahiwara Kumhari Road	Durg	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
160	Within Durg Municipal Limits 2	Durg	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
161	Between Kumhari Toll and Kumhari Chowk on LHS towards Bhilai on NH 53(Raipur Nagpur Road)	Durg	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
162	Modern Public School To Sharda Vidyalaya On Resali Road	Durg	Regular	150	Open CC 1	DC	20	20	400	25	60	Draw of Lots	15	5
163	At village Tarighat on SH 22(Durg Patan Abhanpur Road)	Durg	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
164	Between Supela Police Station and Royal Green Resort on RHS towards Rajnandgaon on NH 53(Raipur Nagpur Road)	Durg	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
165	From Karnja Bhilai Chowk To Nandkatti and Durg Dhamdha Road Junction on SH 7(Durg Dhamdha Road)	Durg	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
166	Within Bhilai Municipal Limts 1	Durg	Regular	150	Open	СС	20	20	400	25	10	Bidding	30	5
167	Between Tejas IAS Academy and Dwarika Restaurant Pushpak Nagar Bhilai	Durg	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
168	New Police Station Bhilai 3 to SaiDham on LHS toward Raipur on NH 53(Nagpur Raipur Road)	Durg	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
169	Between Durg DPS School and Sankaracharya MBA College on Junwani Road	Durg	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
170	Avanti Bai Chowk to Rungta College on Kurud Road	Durg	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
171	Nehru Nagar Chowk to Y Bridge Bhilai on Pulgaon Road	Durg	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
172	BETWEEN CHHATTISGARH RAJYA GRAMIN BANK AND OM SHANTI CHOWK HOUSING BOARD COLONY BHILAI	Durg	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
173	Nehru Nagar Chowk to Royal Green Resort on LHS towards Rajnandgaon on NH 53(Raipur Nagpur Road)	Durg	Regular	150	ST CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3

	·										•		•	
174	Within 1km from Junction of Potiya Road and SH 22(Durg Patan Abhanpur Road) on Potiya Road	Durg	Regular	100	Open CC 2	DC	20	20	400	25	45	Draw of Lots	15	5
175	Within 1 km of Jail Tiraha on Padmanaddhpur Pulgaon Pass Road	Durg	Regular	100	OBC CC 1	DC	20	20	400	25	45	Draw of Lots	15	4
176	Within Durg Municipal Limits 1	Durg	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
177	Chawni Chowk To Vaishali Nagar Police Station on Gaurav Path	Durg	Regular	150	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
178	Agrasen Chowk To Patel Chowk Station Road Durg	Durg	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
179	Green Chowk To Durg Dhamdha Underbridge on SH 7	Durg	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
180	Between Mini Mata Pulagon Chowk to Potiya Chowk on Pulgaon Potiya Road	Durg	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
181	Within Bhilai Municipal Limts 2	Durg	Regular	150	OBC	СС	20	20	400	25	10	Bidding	30	4
182	From the junction of Pulgaon Road and Durg Dhamdha Road to Green Chowk	Durg	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
183	Between DPS Bhilai and BPCL Petrol Pump Mahamaya Fuels on Resali Road	Durg	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
184	Green Chowk to Agrasen Chowk on Station Road Durg	Durg	Regular	160	Open	DC	20	20	400	25	60	Draw of Lots	15	5
185	Bhilai Power House Chowk to Chawni Chowk	Durg	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
186	On the road joining NH 53 and Gaurav Path	Durg	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
187	Between Vishal Mega Mart and Balaji Blood Bank on Kabir Marg(Hanuman Chowk Road)	Durg	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
188	Between Ram Nagar Chowk and Sadbhavana Chowk	Durg	Regular	150	Open CC 1	DC	20	20	400	25	60	Draw of Lots	15	5

	·													
189	Within 2 kms from Avanti Bai Chowk on Sirsa Road towards Sirsa	Durg	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
190	Between Gurudwara and Synorganic Paints Pvt Limited on Guru Arjun Dev Marg	Durg	Regular	150	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
191	Between Ruwabandha Water Tank and Shiv Temple Ruwabandha	Durg	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
192	Within Durg Municipal Limits 3	Durg	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
193	Pandatarai On NH 130A on Pondi Pandaria Road.	Kawardha	Regular	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
194	Within Bhilai Municipal Limts 3	Durg	Regular	150	Open	СС	20	20	400	25	10	Bidding	30	5
195	Within 3 Kms from Govt. School Bagbahar towards Pharsabahar on SH 22 (Ludeg Bagbahar Road)	Jashpur	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
196	Within 2 kms from the junction of Mahamaya marg and Kacche hatkondal road at parrekodo	Kanker	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
197	Within 2 KMs from Junction of SH 16 and Pirda Road on SH 16	Janjgir	Regular	110	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
198	On LHS within 4 Kms either side from Bhanpuri police station on NH 30 (Raipur Jagdalpur Highway) while going from Jagdalpur	Bastar	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
199	Within Naya Raipur 5	Raipur	Regular	150	ST PH	CFS	20	20	400	0	0	Draw of Lots	0	3
200	Within Naya Raipur 6	Raipur	Regular	150	OBC PH	DC	20	20	400	25	60	Draw of Lots	15	4
201	Dhamtari within Municipal limit	Dhamtari	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
202	Within 3 kms either side of the junction of NH 30 and road connectiong Mennonite Church Kurud at rakhi on NH 30 (Raipur Jagdalpur Highway)	Dhamtari	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
203	Within 5Km From Pandaria Chowk Towards Mungeli On Pandaria Mungeli Road(NH 130A).	Kawardha	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4

204	On LHS Within 2 kms from junction of NH 30 (Raipur Jagdalpur Highway) and NH 63 (Nizamabad Mancherial Jagdalpur Highway) towards Jagdalpur while coming from Geedam	Bastar	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
205	Within 4 kms either side of Shiv Mandir Bahigaon on NH 30 (Raipur Jagdalpur Road)	Kondagaon	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
206	Within 2 kms either side of Sihawa Chowk Dhamtari on NH 30 (Vijayawada Jagdalpur Raipur Highway)	Dhamtari	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
207	Arasnara on SH 22 (Durg Patan Road)	Durg	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
208	Within 1KM on LHS of Main Road from Surajpur To Mahgaon SH 5	Surajpur	Regular	100	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
209	At Village : Babu Kohaka on NH 30 (Raipur Jagdalpur Highway)	Kanker	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
210	At village singhpur on NH 130CD (Kurud by pass to Ratwa)	Dhamtari	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
211	Within nagar panchayat limit of Pali on NH 130	Korba	Regular	160	Open	DC	20	20	400	25	60	Draw of Lots	15	5
212	within 3 Kms of Sandha Chowk kurud towards Dhamtari on NH 30	Dhamtari	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
213	Within 5 kms from the junction of SH 5 and ODR at village Kumhari on SH 5 (Antagarh Narayanpur Road)	Kanker	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
214	At Village Bijnapuri on NH 30 (Raipur Jagdalpur Highway)	Dhamtari	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
215	At village Senchuva on NH 30 (Raipur Jagdalpur Highway)	Dhamtari	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
216	On RHS within 4 kms from Gurudwara Saheb at patla towards jagdalpur while going from Raipur on NH 30	Kondagaon	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
217	At village Mottugudiam on NH 30 (Raipur Jagdalpur Highway)	Sukma	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
218	At Village Jaitpuri on NH 30 (Raipur Jagdalpur Road)	Kondagaon	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5

	Within 3 kms either side of Banjarin Mata Mandir at													
219	Bagmundipaneda on NH 63 (Nizamabad Mancherial Jagdalpur Highway)	Bastar	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
220	Within 4 kms from Joba Chowk (junction of NH 30 with road connecting Bajebanjoda) towards keshkal	Kondagaon	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
221	Within 4 kms from Joba Chowk (junction of NH 30 with road connecting bajebanjoda) towatds jagdalpur	Bastar	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
222	Within Naya Raipur 7	Raipur	Regular	150	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
223	At village sarsopuri on NH 30 (Raipur Jagdalpur Highway)	Dhamtari	Regular	150	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
224	At village Usari On NH 30 (Raipur Jagdalpur Highway)	Bastar	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
225	Within Naya Raipur 8	Raipur	Regular	150	Open PH	DC	20	20	400	25	60	Draw of Lots	15	5
226	2 kms either side of Rawghat Mandir on SH 5 (Antagarh Narayanpur Road)	Kanker	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
227	Between Km Stone No 16 And 19 on Samri Road (SH 12)	Balrampur	Regular	120	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
228	Within 2 kms of Central Bank Of India at Markel On RHS while going from Dhapunji towards Jagdalpur on NH 63 (Nizamabad Mancherial Jagdalpur Highway)	Bastar	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
229	Bewteen KM Stone No 54 to 59 on NH 130B (Raipur Baloda Bazar Road)	Balodabazar	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
230	On LHS between KM stone No 2 to KM Stone No 5 while going from Simga towards Paunsari on SH 20	Balodabazar	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
231	Within 2 kms of Central Bank Of India at Markel On LHS while going from Dhapunji towards Jagdalpur on NH 63 (Nizamabad Mancherial Jagdalpur Highway)	Bastar	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
232	Within 3 either side of Sadguri Mandir at badekilepal on NH 63 (Nizamabad Mancherial Jagdalpur Highway)	Bastar	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
233	Within 2 kms from the Junction of NH 30 and Keshkal by pass on keskal bypass while going from Jagdalpur	Kondagaon	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5

234	Within 2 Kms Either Side From Tongpal Post Office on NH 30 (Raipur Jagdalpur Highway)	Sukma	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
235	At Village Dugli on NH 130CD (Kurud by pass to Ratwa)	Dhamtari	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
236	Within 2 km from Gandhi Chowk Pali towards Bilaspur on NH 130 (Within Nagar panchayat limit of pali)	Korba	Regular	160	Open	DC	20	20	400	25	60	Draw of Lots	15	5
237	In Fundahar on Dharampura road within Raipur Municipality	Raipur	Regular	150	Open CC 1	DC	20	20	400	25	60	Draw of Lots	15	5
238	Raipur city 6 within municipal limit	Raipur	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
239	Raipur city 7 within municipal limit	Raipur	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
240	Between Mile Stone 295 And 298 on SH 4	Korba	Regular	110	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
241	Nandkathi Chwok to Patihariya Chwok on SH 7 (Durg Damdha Road)	Durg	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
242	On LHS within 3 km from Chhattishgarh Gramin Bank Bhaisama towards Hati on NH 130A	Korba	Regular	160	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
243	Within 2 km from Chendra chowk On NH43 towards Pathalgaon	Surguja	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
244	Lawan On Baloda Bazar Kasdol Road (NH 130B)	Balodabazar	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
245	On LHS of VIP road from Energy park to Junction on VIP road and Dharampura road within Raipur Municipality	Raipur	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
246	Within Kunkuri Municipal limit on SH	Jashpur	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
247	Within 5 km from Junction NH43(Manedragarh Ambikapur road) and SH Sonhat road towards Sonhat	Koria	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
248	Within 2 Kms From Jashpur Town Entrance Gate (Swami Karpatri dwar) On NH 43(Jashpur Ghumla Road)	Jashpur	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3

249	On RHS of VIP road from Energy park to Junction on VIP road and Dharampura road within Raipur Municipality	Raipur	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
250	Within 3 Km from Mahgawan Chowk Surajpur Towards Bhaiyyathan On Surajpur Bhaiyyathan Road	Surajpur	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
251	On RHS going from Bilaspur towards Katghora between Kilometer Milestone no 49 to 51 on NH 130 (Bilaspur Ambikapur Highway)	Korba	Regular	160	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
252	From Ghantaghar Chowk To Risdi Chowk in Korba Town	Korba	Regular	110	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
253	Within 2 Kms from Korba Indian Oil Terminal towards Jamnipali on NH 149B	Korba	Regular	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
254	Within 4 Kms from Hasdev bridge at Kudur mal on NH 130A towards Pantora Bilaspur	Korba	Regular	160	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
255	Within 2 km from BPC RO at Risdi Urga By pass Road on Risdi Urga By pass Road	Korba	Regular	110	Open	DC	20	20	400	25	45	Draw of Lots	15	5
256	Within nagar panchayat limit of Jaijaipur	Janjgir	Regular	110	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
257	Within 2KMs from Mahamrityunjayaeshvar Temple Dandkhdua on NH 343 (Ramanujganj Marg)	Balrampur	Regular	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
258	On LHS Within 2 KM from VALVO service & parts centre towards Champa on NH 149B	Korba	Regular	160	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
259	Between Sarvamangla check post and Kusmunda Chowk	Korba	Regular	110	Open	DC	20	20	400	25	45	Draw of Lots	15	5
260	Within 3 Km From Gomata Chowk towards Korba within Korba municipality	Korba	Regular	160	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
261	Within 2 Km From Dhyan Chand Chowk Towards CSEB Chowk Korba on NH 149B	Korba	Regular	160	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
262	Within 1 km from Maharana Pratap chowk towards Budhwari TP chowk bypass	Korba	Regular	110	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
263	Within limit of Census town of Rajgamarg	Korba	Regular	110	OBC	DC	20	20	400	25	45	Draw of Lots	15	4

264	On LHS within 2 Km From Barpali Chowk on Korba Champa towards Champa on NH 149B	Korba	Regular	160	Open CC 1	DC	35	35	1225	25	75	Draw of Lots	15	5
265	Within 1 Km From Shiv Rice Mill at Nava parakala towards Sakti on Sakti Malkharoda Road (SH 16)	Janjgir	Regular	110	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
266	Within 2 Km From Gram Panchayat Bhavan Tanakhar On Katghora Ambikapur Road on NH 130 towards Ambikapur on LHS	Korba	Regular	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
267	Between Jenjara and Junction of NH 130 and Katghora bypass on katghora by pass	Korba	Regular	160	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
268	Between Milestone 69 to 71 on NH 130 on LHS going towards Katghora from Bilaspur	Korba	Regular	160	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
269	Between Ghantaghar Chowk To Maharana Pratap Chowk In Korba Town	Korba	Regular	110	Open	DC	20	20	400	25	45	Draw of Lots	15	5
270	At Nonbirra on NH 130A (urga hati road)	Korba	Regular	160	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
271	At Kudmura On NH 130A (urga hati road)	Korba	Regular	160	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
272	Within 5 km from SBI Morga towards ambikapur on NH 130	Korba	Regular	160	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
273	Within municipal limit of Akalatara	Janjgir	Regular	160	Open CC 2	DC	20	20	400	25	60	Draw of Lots	15	5
274	Between KM stone 9 to 12 on SH 9 (Ghatoli Chowk to Bahmnidihi Road)	Janjgir	Regular	110	OBC CC 1	DC	35	35	1225	25	60	Draw of Lots	15	4
275	Village Kudhari Within 2.5 KMs from Bhadri Chowk towards Singhitarai	Janjgir	Regular	110	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
276	Within 2 Km from Power Grid Bhaisma (Dharamjaygarh Substation) towards Urga on NH 130A	Korba	Regular	160	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
277	On LHS within 2 Km From Urga Chowk towards Kudurmal on NH 130A	Korba	Regular	160	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
278	Within 5 km from ICICI bank kartala on NH 130A towards Hati	Korba	Regular	160	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4

	-													
279	On RHS within 5 km from Chhattishgarh Gramin Bank Bhaisama towards Hati on NH 130A	Korba	Regular	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
280	Between Mile Stone 293 And 295 on SH 4	Korba	Regular	110	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
281	Within 2 Km from Agan Badi Kendra Navarapara towards Katghora on NH 130	Korba	Regular	160	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
282	Within nagar panchayat limit of Rahod (not on highway)	Janjgir	Regular	110	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
283	On LHS from Basna to Saraipali between KM stone No 126 to 130 on NH 53 (Kolkata Mumbai Highway)	Mahasamund	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
284	On LHS from Odisha Towards Raipur between Milestone No.117 To 122 on NH 53 (Kolkata Mumbai Highway)	Mahasamund	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
285	On LHS from Odisha Towards Raipur between Milestone No.111 To 113on NH 53 (Kolkata Mumbai Highway)	Mahasamund	Regular	150	Open	СС	35	45	1575	25	10	Bidding	30	5
286	Between KM stone No 142 to KM stone no 145 on LHS while going from Saraipali towards Raipur on NH 53 (Kolkata Mumbai Highway)	Mahasamund	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
287	Between KM stone No 26 to 30 on LHS while going from Saraipali towards Raipur on NH 53 (Kolkata Mumbai Highway)	Mahasamund	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
288	Within 4Kms from the Junction of NH 30 and NH 130 C on LHS while going from Abhanpur towards Dhamtari on NH 30 (Abhanpur to Dhamtari Highway	RAIPUR	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
289	Within 3 KM on SH 19 from Junction of NH353 and SH 19	Mahasamund	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
290	On RHS from Odisha towards Raipur between Milestone No 194 To 202 On NH 53 (Kolkata Mumbai Highway)	Mahasamund	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
291	On LHS from Odisha towards Raipur between Milestone No 216 To 219 On NH 53 (Kolkata Mumbai Highway)	Mahasamund	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
292	Within 3 KM from Community Health Centre at Lambar towards Sarsiwa on SH 16(Saraipali Sarsirwa road) Tehsil: Basna	Mahasamund	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
293	On RHS while going from Raipur Towards Basna at Mandir hasaud on NH 53 (Kolkata Mumbai Highway)	RAIPUR	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3

294	On LHS while going from Baghbahara towards Mahasamund within 2KMs from Anwaradabri PWD Rest house on NH 353	Mahasamund	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
295	Between Milestone No.6 To Milestone No 10 On NH 353 ON RHS while moving from NH53 to Mahasamund (Raipur Mahasamund Khariar Road Highway)	Mahasamund	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
296	Between milestone No. 30 To Milestone No. 34 on NH 130C (Abhanpur Gariabandh Deobhog Highway)	Gariyaband	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
297	On LHS from Odisha towards Raipur between Milestone No 155 To 160 On NH 53 (Kolkata Mumbai Highway)	Mahasamund	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
298	On LHS from Odisha towards Raipur between Milestone No 220 To 222 On NH 53 (Kolkata Mumbai Highway)	Mahasamund	Regular	150	Open	СС	35	45	1575	25	10	Bidding	30	5
299	On RHS from Odisha towards Raipur between Milestone No 155 To 160 On NH 53 (Kolkata Mumbai Highway)	Mahasamund	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
300	On RHS from Abhanpur towards Deobhog between Mile Stone No.50 To 53 On NH 130C (Abhanpur Gariabandh Deobhog Highway)	Gariyaband	Regular	150	ОВС РН	DC	35	45	1575	25	75	Draw of Lots	15	4
301	On RHS from Abhanpur towards Deobhog between Mile Stone No.55 To 58 On NH 130C (Abhanpur Gariabandh Deobhog Highway)	Gariyaband	Regular	150	ST PH	CFS	35	45	1575	0	0	Draw of Lots	0	3
302	On RHS from Odisha towards Raipur between Milestone No 169 To 173 On NH 53 (Kolkata Mumbai Highway)	Mahasamund	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
303	On LHS while going from Saraipali towards Raipur between milestone No.261 and 263 on NH 53 (Kolkata Mumbai Highway)	RAIPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
304	Within 4Kms from the Junction of NH 30 and NH 130 C on RHS while going from Abhanpur towards Dhamtari on NH 30 (Abhanpur to Dhamtari Highway)	Raipur	Regular	150	OBC	СС	35	45	1575	25	10	Bidding	30	4
305	On RHS while going from Saraipali towards Raipur between milestone No.255 and 260 on NH 53 (Kolkata Mumbai Highway)	RAIPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
306	On LHS from Odisha towards Raipur between Milestone No 169 To 173 On NH 53 (Kolkata Mumbai Highway)	Mahasamund	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
307	Within Municipal Limit of Saraipali(Not on SH NH)	Mahasamund	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
308	On RHS from Odisha towards Raipur between Milestone No 216 To 221 On NH 53 (Kolkata Mumbai Highway)	Mahasamund	Regular	150	OBC	СС	35	45	1575	25	10	Bidding	30	4

309	On RHS while going from Saraipali towards Raipur between milestone No.250 and 255 on NH 53 (Kolkata Mumbai Highway)	RAIPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
310	Municipal Limit of Gariaband(Not on SH NH)	Gariyaband	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
311	Within Milestone no: 164 to 168 on NH 53 (Kolkata Mumbai Highway)	Mahasamund	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
312	on RHS from Mahasamund towards Khariar Road between Mile Stone No. 51 To 54 on NH 353 (Raipur Mahasamund Khariar Road Highway)	Mahasamund	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
313	Between Mile Stone No. 14 To 17 on RHS while going from Mahasamund towards Baghahara on NH 353 (Raipur Mahasamund Khariar Road Highway)	Mahasamund	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
314	On LHS while going from Saraipali towards Raipur between milestone No.175 and 180 on NH 53 (Kolkata Mumbai Highway)	Mahasamund	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
315	Within 500 m from Science Centre Saddu within Raipur Municipality	Raipur	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
316	Within 500mtrs on RHS from Memon poultry towards Mahasamund on NH 353 (Raipur Mahasamund Khariar Road Highway)	Mahasamund	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
317	On LHS while going from Saraipali towards Raipur between milestone No.250 and 255 on NH 53 (Kolkata Mumbai Highway)	RAIPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
318	Within Municipal Limit of Chhura(Not on NH SH)	Gariyaband	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
319	Between KM stone No 150 to KM stone no 155 on RHS while going from Saraipali towards Raipur on NH 53 (Kolkata Mumbai Highway)	Mahasamund	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
320	On RHS while going from Saraipali towards Raipur between milestone No.225 and 228 on NH 53 (Kolkata Mumbai Highway)	RAIPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
321	On LHS while going from Saraipali towards Raipur between milestone No.225 and 228 on NH 53 (Kolkata Mumbai Highway)	RAIPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
322	Between KM stone No 150 to KM stone no 155 on LHS while going from Saraipali towards Raipur on NH 53 (Kolkata Mumbai Highway)	Mahasamund	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
323	Between KM stone No 136 to KM stone no 140 on RHS while going from Saraipali towards Raipur on NH 53 (Kolkata Mumbai Highway)	Mahasamund	Regular	150	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4

324	Between KM stone No 146 to KM stone no 150 on RHS while going from Saraipali towards Raipur on NH 53 (Kolkata Mumbai Highway)	Mahasamund	Regular	150	SC CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
325	On RHS Within 1KM while going from Hotel Marriot towards Magneto Mall on NH 53	RAIPUR	Regular	150	Open PH	DC	35	45	1575	25	75	Draw of Lots	15	5
326	Within 3 KM from junction of Bodesara Lambar road and NH 153 towards Raigarh on NH 153 on LHS while moving from saraiapli to raigarh (Saraipali Raigarh Highway) Tehsil: Saraipali	Mahasamund	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
327	Between milestone No. 23 To Milestone No. 28 on NH 130C (Abhanpur Gariabandh Deobhog Highway)	Gariyaband	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
328	On RHS from Amapara Chowk to Pandit Ravishankar Shukla University Gate on GE Road within Raipur Municipality	Raipur	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
329	At Kashibahara(between Mahasamund and Bagbahara) on LHS while going from Kashibahara towards Odisha on NH 353 (Raipur Mahasamund Khariar Road)	Mahasamund	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
330	On LHS between Mahanadi Bridge to Gulab Park at Nawapara while going from Rajim towards Abhanpur On NH 130C (Abhanpur to Gariyabandh Highway)	Raipur	Regular	150	OBC	СС	35	45	1575	25	10	Bidding	30	4
331	Within 2 Kms From ICICI Bank Mahasamund branch (not on NH)	Mahasamund	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
332	Between KM stone No 138 to KM stone no 142 on LHS while going from Saraipali towards Raipur on NH 53 (Kolkata Mumbai Highway)	Mahasamund	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
333	Within 4 KM from Dakshin mukhi Hanuman Mandir at Gatapar towards Rajim on NH130C (Abhanpur Gariabandh Deobhog Highway) on LHS while moving from Abhanpur to Rajim	RAIPUR	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
334	Within 2 Kms from SBI Collectorate Branch at Mahasamund on B.T.I. Road	Mahasamund	Regular	100	OBC	СС	20	20	400	25	10	Bidding	30	4
335	On RHS between Giroud Railway Flyover to Jhorki Nahar towards Dhaneli on Ring Road no 3	RAIPUR	Regular	200	Open	DC	30	30	900	25	60	Draw of Lots	15	5
336	On LHS from Abhanpur towards Deobhog between Mile Stone No.50 To 53 On NH 130C (Abhanpur Gariabandh Deobhog Highway)	Gariyaband	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
337	Within 3 KM from junction of Bodesara Lambar road and NH 153 towards Raigarh on NH 153 on RHS while moving from saraiapli to raigarh (Saraipali Raigarh Highway) Tehsil: Saraipali	Mahasamund	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
338	On LHS while going from basna towards Odisha between milestone No. 100 to 104 On NH 53 (Kolkata Mumbai Highway)	Mahasamund	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4

339	On LHS while going from Gariyabandh to Odisha between Milestone No. 186 To 192 on NH 130C (Abhanpur Gariabandh Deobhog Highway)	Gariyaband	Regular	150	Open	СС	35	45	1575	25	10	Bidding	30	5
340	On RHS while going from Gariyabandh to Odisha between Milestone No. 186 To 192 on NH 130C (Abhanpur Gariabandh Deobhog Highway)	Gariyaband	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
341	Between Mile Stone No. 0 To 4 on RHS while going from NH53 towards Mahasamund on NH 353 (Raipur Mahasamund Khariar Road Highway)	Mahasamund	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
342	At Khopli on NH 353 (Raipur Mahasamund Khariar Road Highway)	Mahasamund	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
343	Between Mile Stone No. 0 To 4 on LHS while going from NH53 towards Mahasamund on NH 353 (Raipur Mahasamund Khariar Road Highway)	Mahasamund	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
344	Within Pithora municipal limit(Not on NH SH)	Mahasamund	Regular	105	Open	DC	20	20	400	25	45	Draw of Lots	15	5
345	From Shantinagar To Jain Temple On Thanapara Road (not on NH) at Bagbahara	Mahasamund	Regular	100	OBC	сс	20	20	400	25	10	Bidding	30	4
346	On LHS between Ganpat Chowk to Gondwara on Ring Road No 2 within Raipur Municipality	Raipur	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
347	Between Milestone No. 169 To 172 On NH 130C (Abhanpur Gariabandh Deobhog Highway)	Gariyaband	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
348	On LHS from Odisha Towards Raipur between Milestone No. 141 to 144 on NH 53 (Kolkata Mumbai Highway)	Mahasamund	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
349	On LHS At Dhaneli while going from Dhaneli towards Mandira Hasaud on Ring Road No 3	Raipur	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
350	On RHS within 5KMs from Odisha CG Border towards Raipur on NH 53(Kolkata Mumbai Highway)	Mahasamund	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
351	Within 3KMs from Mahanadi Bridge on LHS while going from Mahanadi Bridge towards Birkoni on NH 53 (Kolkata Mumbai Highway)	Mahasamund	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
352	Within 3 KM from Jhilmila Chowk (Saraipali) on NH 153(Saraipali Raigarh Highway).	Mahasamund	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
353	Within 4 KM from Dakshin mukhi Hanuman Mandir at Gatapar towards Rajim on NH130C (Abhanpur Gariabandh Deobhog Highway) on RHS while moving from Abhanpur to Rajim	RAIPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5

354	Within 3 KM from junction of Amarkot road and NH 153 towards Raigarh on NH 153 (Saraipali Raigarh Highway) Tehsil: Saraipali	Mahasamund	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
355	Within 2 KMs on either Side of SBI Branch Bagbahra on NH 353 (Raipur Mahasamund Khariar Road Highway)	Mahasamund	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
356	on L.H.S.within 1KM from Tekari Bridge towards Vidhansabha on Ring Road 3	Raipur	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
357	Between milestone No. 108 To 114 on NH 130C (Abhanpur Gariabandh Deobhog Highway)	Gariyaband	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
358	Within 4 KM from Mont Fort school towards Abhanpur on RHS while going from Jhanki to Abhanpur on NH 30 (Raipur Dhamtari Jagdalpur Highway)	Raipur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
359	From Mahanadi Bridge to milestone no.227 on RHS while going from Mahanadi Bridge towards Birkoni on NH 53 (Kolkata Mumbai Highway)	Mahasamund	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
360	On LHS of Mahadev ghat road from Raipura Chaok to Mahadevghat within Raipur Municipality	Raipur	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
361	On RHS while going from Saraipali towards Raipur between milestone No.237 and 241 on NH 53 (Kolkata Mumbai Highway)	Raipur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
362	Within 2KMs from Junction of Ringroad 3 and NH 53 towards Vidhan Sabha Road on Ring Road 3 on LHS	RAIPUR	Regular	150	Open CC 1	DC	20	20	400	25	60	Draw of Lots	15	5
363	On RHS between Ganpat Chowk to Gondwara on Ring Road No 2 within Raipur Municipality	Raipur	Regular	150	ОВС	DC	20	20	400	25	60	Draw of Lots	15	4
364	Between Mile Stone No. 14 To 17 on LHS while going from Mahasamund towards Baghahara on NH 353 (Raipur Mahasamund Khariar Road Highway)	Mahasamund	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
365	Between Mile Stone No. 19 To 22 on RHS while going from Mahasamund towards Baghahara on NH 353 (Raipur Mahasamund Khariar Road Highway)	Mahasamund	Regular	150	Open	СС	35	45	1575	25	10	Bidding	30	5
366	Within 2Kms From Hanuman Mandir At Chandarpur On NH 353 on RHS while going from Bagbahara to Khariar road On NH 353 (Raipur Mahasamund Khariar Road Highway)	Mahasamund	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
367	On RHS of NH 30 from junction of Ring Road No 2 with NH 30 to Vyas talab chowk while going rom raipur towards Bilaspur	Raipur	Regular	150	ОВС	DC	20	20	400	25	60	Draw of Lots	15	4
368	Within 4 KM from Mont Fort school towards Abhanpur on LHS while going from Jhanki to Abhanpur on NH 30 (Raipur Dhamtari Jagdalpur Highway)	Raipur	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3

	·													
369	Within Municipal Limit of Fingeshwar Tehsil: Rajim	Gariyaband	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
370	Within 3 KM from Rajim Mahanadi overbridge towards Gariaband on NH 130C (Abhanpur Gariabandh Deobhog Highway)	Gariyaband	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
371	On RHS from Tendua main road & new ring road junction to Borjhara on new ring road (new bypass road from Tatibandh to NH 30)	Raipur	Regular	150	ОВС	DC	20	20	400	25	60	Draw of Lots	15	4
372	Between Mile Stone No.36 To 40 On NH 130C (Abhanpur Gariabandh Deobhog Highway)	Gariyaband	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
373	On LHS while going from Basna Towards Saraipali between Milestone No. 131 To 134 on NH 53 (Kolkata Mumbai Highway)	Mahasamund	Regular	150	ST CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
374	On LHS from Odisha towards Raipur between KM stone no 107 to 110 on NH 53 (Kolakat Mumbai Highway)	RAIPUR	Regular	150	Open CC 2	DC	35	45	1575	25	75	Draw of Lots	15	5
375	On RHS between Mahanadi Bridge and Gulab Park at Nawapara while going from Rajim towards Abhanpur On NH 130C (Abhanpur to Gariyabandh Highway)	RAIPUR	Regular	150	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
376	On LHS while going from Raipur towards Basna between Milestone No.117 To 122 On NH 53 (Kolkata Mumbai Highway)	Mahasamund	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
377	On RHS while going from Saraipali towards Raipur between milestone No.175 and 180 on NH 53 (Kolkata Mumbai Highway)	Mahasamund	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
378	On LHS from Borjhara To Kanhera on new ring road (new bypass road from Tatibandh to NH 30)	Raipur	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
379	Within Municipal limit of Rajim(Not on NH SH)	Gariyaband	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
380	On LHS from Raipur towards Odisha between Milestone No. 107 To 115 on NH 53 (Kolkata Mumbai Highway)	Mahasamund	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
381	On LHS from Tendua main road & new ring road junction to Borjhara on new ring road (new bypass road from Tatibandh to NH 30)	Raipur	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
382	On LHS while going from Saraipali towards Raipur between milestone No.163 and 165 on NH 53 (Kolkata Mumbai Highway)	Mahasamund	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
383	On RHS while going from Basna Towards Saraipali between Milestone No. 131 To 134 on NH 53 (Kolkata Mumbai Highway)	Mahasamund	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5

384	Within Pithora municipal limit on SH 19 (Pithora Tendukona Road)	Mahasamund	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
385	On RHS from Borjhara To Kanhera on new ring road (new bypass road from Tatibandh to NH 30)	Raipur	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
386	On LHS between Pandri bus stand to Avantibai chowk while going towards Baloda Bazar from Raipur	Raipur	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
387	On LHS while going from Saraipali towards Raipur between milestone No.244 and 248 on NH 53 (Kolkata Mumbai Highway)	RAIPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
388	Within 2KMs from Junction of Ringroad 3 and NH 53 towards Vidhan Sabha Road on Ring Road 3 on RHS	RAIPUR	Regular	150	Open CC 1	DC	20	20	400	25	60	Draw of Lots	15	5
389	On RHS between Pandri bus stand to Avantibai chowk while going towards Baloda Bazar from Raipur	Raipur	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
390	On LHS between PWD Bridge (Rajendra Nagar) On NH 53 (Ring Road 1) to Jai Jawan Petrol Pump by katora talab	Raipur	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
391	At Kashibahara(between Mahasamund and Bagbahara) on RHS while going from Kashibahara towards Odisha on NH 353 (Raipur Mahasamund Khariar Road)	Mahasamund	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
392	On LHS within 5KMs from Odisha CG Border towards Raipur on NH 53	Mahasamund	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
393	In Deopuri On road connecting NH30 and new expressway (Not on NH) on LHS while going from NH30 towards new expressway	RAIPUR	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
394	At Khaira village on NH 130	Bemetara	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
395	On RHS from Abhanpur towards Deobhog between Mile Stone No.60 To 63 On NH 130C (Abhanpur Gariabandh Deobhog Highway)	Gariyaband	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
396	Within 2 km from Barbaspur Chowk on RHS towards Korba on NH 149B	Korba	Regular	160	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
397	Within nagar panchayat limit of Saragaon (Not on Highway)	Janjgir	Regular	110	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
398	Within 7.5 Kms from Dhyan Chand Chowk towards Kathghora within Korba Municipal limit	Korba	Regular	160	Open	DC	20	20	400	25	60	Draw of Lots	15	5

399	At Faraswani on NH 149B	Korba	Regular	160	ST PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
400	At Kothari on RHS from Korba towards Champa on NH 149B	Korba	Regular	160	ОВС РН	DC	35	35	1225	25	75	Draw of Lots	15	4
401	On LHS of Dipika Pali Road towards Pali between Milestone No 8 to 12	Korba	Regular	110	Open	DC	20	20	400	25	45	Draw of Lots	15	5
402	On LHS Between Sarvamangala Check Post and Ratakhar bridge On Korba Kusmunda Bypass Road	Korba	Regular	110	Open	DC	20	20	400	25	45	Draw of Lots	15	5
403	Within nagar panchayat limit of Adbhar (Not on Highway)	Janjgir	Regular	110	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
404	At Banari on NH 149B	Janjgir	Regular	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
405	Within 3 Kms from Korba Indian Oil Terminal towards Katghora on NH 149B	Korba	Regular	160	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
406	Within 1 Km from Jogi nala on RHS going towards Champa on NH 149B	Korba	Regular	160	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
407	Within municipal limit of Sakti (Not on highway)	Janjgir	Regular	110	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
408	Within 5 KM from Risdi chowk towards Urga on Balco Risdi Urga bypass road	Korba	Regular	110	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
409	Within 2 KM from Balco gate 2/Sepco gate towards Risdi chowk	Korba	Regular	110	Open	DC	20	20	400	25	45	Draw of Lots	15	5
410	Within 1 Km from Polytechnic College on Balco Bypass	Korba	Regular	110	Open	DC	20	20	400	25	45	Draw of Lots	15	5
411	Between Mile Stone 330 to 332 on SH 4	Korba	Regular	110	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
412	At village Podi kalan on Jarwe Nagrada Road on SH 29	Janjgir	Regular	110	ОВС	DC	35	35	1225	25	60	Draw of Lots	15	4
413	At Tuman on SH 4	Korba	Regular	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3

414	At Village Banjari on NH 130	Korba	Regular	160	Open CC 1	DC	35	35	1225	25	75	Draw of Lots	15	5
415	Within nagar panchayat limit of Baloda	Janjgir	Regular	110	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
416	Within 1KM from Agrasen Tirah towards City Centre Mall	Korba	Regular	110	Open	DC	20	20	400	25	45	Draw of Lots	15	5
417	Within Dipika Municipality Limit	Korba	Regular	110	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
418	On LHS within 5 Kms from Champa Railway Crossing Towards Korba on NH 149B	Janjgir	Regular	160	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
419	Within nagar panchayat limit of Kharod	Janjgir	Regular	110	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
420	On RHS within 2Kms from Junction of Champa Birra Road(SH 9) and new By pass of NH 49 on newbyss going towards Baradwar	Janjgir	Regular	160	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
421	Within 2Kms from Junction of Champa Birra Road(SH 9) and new By pass of NH 49 going towards Janjgir	Janjgir	Regular	160	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
422	Within nagar panchayat limit of Dabhara	Janjgir	Regular	160	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
423	On Pali bypass on NH 130	Korba	Regular	160	OBC CC 1	DC	35	35	1225	25	75	Draw of Lots	15	4
424	After 6KMs from Badri Chowk upto 10Kms towards Dabhara on SH 18	Janjgir	Regular	110	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
425	Between Baradwar and Saragaon on NH 49	Janjgir	Regular	150	Open PH	DC	20	20	400	25	60	Draw of Lots	15	5
426	At Village Gursiya on NH 130	Korba	Regular	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
427	Within nagar panchayat limit of Chandrapur	Janjgir	Regular	110	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
428	Within 2 km from Junction of NH 149B (Korba Champa) & SH 29 (Seoni Sakti) at Seoni towards Nagrada	Janjgir	Regular	110	Open	DC	35	35	1225	25	60	Draw of Lots	15	5

429	Within 5 Km From Mission Chowk Malkharoda Towards Chhapora on SH 16	Janjgir	Regular	110	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
430	within 2 Kms from Chaitma Bus Stop on NH 130 (Bilaspur Ambikapur Road)	Korba	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
431	Within 2 km from Netaji chowk towards Janjgir Railway station	Janjgir	Regular	110	Open	DC	20	20	400	25	45	Draw of Lots	15	5
432	Within 1Km From Champa Bus Stand Towards Parshuram Chowk	Janjgir	Regular	110	Open	DC	20	20	400	25	45	Draw of Lots	15	5
433	Within 2 Km From Shastri Chowk Towards Khatola on RHS	Janjgir	Regular	110	Open	DC	20	20	400	25	45	Draw of Lots	15	5
434	Witin Municipal limit of Janjgir (Not On NH)	Janjgir	Regular	110	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
435	Within Municipal limit of Korba (Not on NH)	Korba	Regular	110	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
436	Within 3 km from Junction of by pass of NH 49 and SH 29 towards Kharsia on by pass of NH 49	Janjgir	Regular	160	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
437	Within 3 km from Reliance RO at Champa on NH	Janjgir	Regular	160	Open CC 1	DC	35	35	1225	25	75	Draw of Lots	15	5
438	Within 4 KMs from Pamgarh Police Station towards Sheorinarayan on SH	Janjgir	Regular	160	ОВС	DC	35	35	1225	25	60	Draw of Lots	15	4
439	Within 2 Km From Birra Chowk towards Champa on SH 9	Janjgir	Regular	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
440	Between Parshuram Chowk And Vishveshwarya Chowk Champa	Janjgir	Regular	110	Open	DC	20	20	400	25	45	Draw of Lots	15	5
441	Within 1 KM from Govt. M.M.R.P.G. College at Champa	Janjgir	Regular	110	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
442	Within 2 Km From Gayatri Rice Mill Kirari (Tehsil Akaltara) on NH 49	Janjgir	Regular	160	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
443	Within 5 Kms From Junction Of Janjgir Kera Road and new bypass of NH 49 on newbypass towards Akaltara	Janjgir	Regular	160	Open	DC	35	35	1225	25	75	Draw of Lots	15	5

444	Within municipal limit of Champa (Not on Highway)	Janjgir	Regular	110	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
445	Within 2 km from Netaji chowk Janjgir towards Bilaspur	Janjgir	Regular	110	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
446	Within 3 Km from Chhatisgarh State Grih Bhandar Nigam Shakha at Akaltara on new by pass of NH 49	Janjgir	Regular	160	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
447	Within 5 Kms From Junction Of Janjgir Kera Road and New by pass of NH 49 on newbyss towards sakti	Janjgir	Regular	160	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
448	Between Semarsot Sanctuary entrance gate and Bathaura on NH 343	Jashpur	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
449	Within 2 KMs from Adbhar Bus stand on SH 18	Janjgir	Regular	110	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
450	on RHS between Agrasen Chowk and Minimata Chowk towards Khatola	Janjgir	Regular	110	Open	DC	20	20	400	25	45	Draw of Lots	15	5
451	Within nagar panchayat limit of Sheorinarayan	Janjgir	Regular	110	Open	DC	20	20	400	25	45	Draw of Lots	15	5
452	Village Dharashiv On Birra Champa Road	Janjgir	Regular	110	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
453	Within 3 KM from Central Bank of India Prem Nagar Branch on Prem Nagar Tara Road	Surajpur	Regular	110	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
454	On RHS from within 2 km Mahanadi River Bridge towards Raigarh on NH 153	Janjgir	Regular	160	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
455	Within 5 Km From Thana Chowk at Dabhara towards Faguram On Dabhara Kharsia Road (SH 18)	Janjgir	Regular	110	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
456	Between Collectorate chowk and Polytechnic college Janjgir via neem path road	Janjgir	Regular	110	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
457	Between ITI chowk and Kosabadi chowk	Korba	Regular	110	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
458	Within Katghora Municipality Limit on NH 130	Korba	Regular	160	Open	DC	20	20	400	25	60	Draw of Lots	15	5

459	Within 4 Kms from Mulmula Police Station on SH	Janjgir	Regular	110	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
460	Within 2 km from Kusmunda chowk towards Bankimongara	Korba	Regular	110	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
461	On LHS within 1KM from Apharid village Junction on SH 9 Turn towards Bamhinidih on SH 9	Janjgir	Regular	110	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
462	Lal Tanki Chwok to Ganja Chowk Within Raigarh Town	Raigarh	Regular	100	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
463	Within 3 km from guru ghasidas chowk baloda towards Akalata on Baloda Akaltara road	Janjgir	Regular	110	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
464	On RHS Between Sarvamangala Check Post and Ratakhar bridge On Korba Kusmunda Bypass Road	Korba	Regular	110	Open CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
465	Within 1 Km on RHS From Ashoka Tower Chowk (turning point) towards Bhagat Singh Chowk within Raipur Municipality	Raipur	Regular	160	Open	DC	20	20	400	25	60	Draw of Lots	15	5
466	On LHS between Siltara to Charoda on NH 30 while going from Raipur towards Bilaspur	Raipur	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
467	From Ghadi chowk to Jai stambh chowk on RHS Raipur Municipality	Raipur	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
468	Within 1 Km on LHS From Ashoka Tower Chowk (turning point) towards Bhagat Singh Chowk within Raipur Municipality	Raipur	Regular	180	Open	DC	20	20	400	25	60	Draw of Lots	15	5
469	Between milestone no 30 to 32 on LHS from Kharora to Mohrenga On SH 20	RAIPUR	Regular	165	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
470	On RHS between Charoda to Dharsiwa on NH 30 while going from Raipur towards Bilaspur	Raipur	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
471	At village Kunra on NH 30 (Raipur To Bilashpur Highway) on RHS while going from Raipur towards Bilaspur	RAIPUR	Regular	180	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
472	Between Singhania Chowk (Urla) to Advani School (Birgaon) on Urla Birgaon Road within Raipur Municipality	RAIPUR	Regular	160	Open	DC	20	20	400	25	60	Draw of Lots	15	5
473	On RHS from Tatibandh Chowk to Tendua main road & new ring road junction on new ring road (new bypass road from Tatibandh to NH 30)	Raipur	Regular	150	Open CC 2	DC	20	20	400	25	60	Draw of Lots	15	5

474	Within New Rajendra Nagar (Not on NH) within Raipur Municipality	Raipur	Regular	150	OBC CC 1	DC	20	20	400	25	60	Draw of Lots	15	4
475	Tendua Raipur within Raipur Municipality	Raipur	Regular	150	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
476	Between Doordarshan Kendra To Ashoka Ratna Housing society on LHS within Raipur municipality	Raipur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
477	On LHS from new bridge of new expressway (old narrow gauge railway track) (Telibandha) to new PWD Bridge (Rajendra Nagar) on NH 53 (Kolkata Mumbai Highway)	Raipur	Regular	180	Open	DC	20	20	400	25	60	Draw of Lots	15	5
478	Between Ashoka Tower chowk to Doordarshan kendra on LHS within Raipur Municipality	Raipur	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
479	From Ghadi chowk to Jai stambh chowk on LHS within Raipur Municipality	Raipur	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
480	On LHS from Bhatagaon Chowk to Raipura Chowk on NH 53 (Kolkata Mumbai Highway)	Raipur	Regular	160	Open	DC	20	20	400	25	60	Draw of Lots	15	5
481	On LHS from Kanhera to Dhaneli 1 on new ring road (new bypass road from Tatibandh to NH 30)	Raipur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
482	On LHS of expressway (old narrow gauge railway track) between Telibandha chowk to Amlidih main road within Raipur Municipality	Raipur	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
483	On LHS from Tatibandh Chowk to Tendua main road & new ring road junction on new ring road (Road from Tatibandh to NH 30)	Raipur	Regular	190	Open	DC	20	20	400	25	60	Draw of Lots	15	5
484	On LHS of Jail Road from Hotel Babylon Inn to Fafadih Chowk (Guru Gobind Singh chowk) within Raipur Municipality	Raipur	Regular	180	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
485	On Kachna Road Between Kachna Nala To Kachna Talab within Raipur Municipality	Raipur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
486	On RHS of expressway (old narrow gauge railway track) between Telibandha chowk to Amlidih main road within Raipur Municipality	Raipur	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
487	Between Doordarshan Kendra To Ashoka Ratna Housing society on RHS within Raipur Municipality	Raipur	Regular	150	Open CC 1	DC	20	20	400	25	60	Draw of Lots	15	5
488	On LHS of Jail Road from Kachehri Chowk to Hotel Babylon Inn within Raipur Municipality	Raipur	Regular	180	ST	CFS	20	20	400	0	0	Draw of Lots	0	3

489	Within 1 KM from Indian Bylor Poultry Firm towards Kathadih on Bhatagaon Road within Raipur Municipality	Raipur	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
490	On LHS of GE Road from Phool Chowk to Amapara Chowk within Raipur Municipality	Raipur	Regular	200	Open	DC	20	20	400	25	60	Draw of Lots	15	5
491	On RHS of GE Road from Phool Chowk to Amapara Chowk within Raipur Municipality	Raipur	Regular	200	Open	DC	20	20	400	25	60	Draw of Lots	15	5
492	On RHS of expressway (old narrow gauge railway track) between Amlidih main road to Chhattisgarh Cricket Institute within Raipur Municipality	Raipur	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
493	On LHS from Dharsiwa to Tarpongi on NH 30 (Raipur To Bilashpur Highway) while going towards Bilaspur from Raipur	Raipur	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
494	On RHS while going from Raipur to Saraipali between VIP Chowk (Raipur city) to Indira Gandhi Krishi Vishwa Vidyalaya (Raipur city) on NH 53 (Kolkata Mumbai Highway)	Raipur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
495	On RHS from Raipura Chowk to Tatibandh on NH 53 (Kolkata Mumbai Highway)	Raipur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
496	On LHS of expressway (old narrow gauge railway track) between Amlidih main road to Chhattisgarh Cricket Institute within Raipur Municipality	Raipur	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
497	On RHS from Dharsiwa to Tarpongi on NH 30 (Raipur To Bilashpur Highway) while going from Raipur towards Bilaspur	Raipur	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
498	On LHS from VIP Chowk to Energy Park on VIP Road within Raipur Municipality	Raipur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
499	On RHS from VIP Chowk to Energy Park on VIP Road within Raipur Municipality	Raipur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
500	On LHS within Avanti vihar (Raipur Municipality) on new expressway (old narrow gauge railway track) while going from Telibandha to Pandri	Raipur	Regular	150	ОВС РН	DC	20	20	400	25	60	Draw of Lots	15	4
501	Between Nandanvan road and Tendua main road junction to Jnurm water tank (Jarwaye road)	Raipur	Regular	150	ST PH	CFS	20	20	400	0	0	Draw of Lots	0	3
502	Within 1Km From Gudiyari Padav at Gudiyari within Raipur Municipality	Raipur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
503	On RHS of Jail Road from Kachehri Chowk to Hotel Babylon Inn within Raipur Municipality	Raipur	Regular	180	Open	DC	20	20	400	25	60	Draw of Lots	15	5

504	On LHS from Raipura Chowk to Tatibandh on NH 53 (Kolkata Mumbai Highway)	Raipur	Regular	190	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
505	On RHS of Jail Road from Hotel Babylon Inn to Fafadih Chowk (Guru Gobind Singh chowk) within Raipur Municipality	Raipur	Regular	180	Open	DC	20	20	400	25	60	Draw of Lots	15	5
506	Wthin 4 Kms on RHS from Dhaneli Bus stop towards Jagdalpur on NH 30 (Vijayawada Jagdalpur Highway)	Raipur	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
507	On RHS from Bhumiya to Simga on NH 30 (Vijayawada Jagdalpur Highway) while going from Raipur to Bilaspur	Raipur	Regular	220	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
508	Within 7 KM from Chhattisgarh Rajya Gramin Bank (Tarpongi) on LHS while going from raipur towards Bilaspur on NH 30 (Vijayawada Jagdalpur Highway)	Raipur	Regular	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
509	On RHS from Pachpedi Naka Chowk to Lalpur Wholesale Fruit Market on NH 30 (Vijayawada Jagdalpur Highway)	Raipur	Regular	260	Open	DC	20	20	400	25	60	Draw of Lots	15	5
510	At Village Dunda on NH 30 (Vijayawada Jagdalpur Highway)	Raipur	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
511	Mandigate To Krishi Mandi in Raipur (infront of Merlin colony) within Raipur Municipality	Raipur	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
512	On RHS within Avanti vihar (Raipur Municipality) on new expressway (old narrow gauge railway track) while going from Telibandha to Pandri	Raipur	Regular	180	Open	СС	20	20	400	25	10	Bidding	30	5
513	On LHS from Maa Banjari Mandir (Rawabhata) to Siltara while going from raipur towards Bilaspur on NH 30 (Vijayawada Jagdalpur Highway)	Raipur	Regular	150	Open CC 1	DC	20	20	400	25	60	Draw of Lots	15	5
514	Ghadi Chowk to Akashwani (Radio Station) Chowk within Raipur Municipality	Raipur	Regular	160	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
515	From Mana to Nayakbandha on NH 30 (Vijayawada Jagdalpur Highway)	Raipur	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
516	Within 7 KMs from Chhattisgarh Rajya Gramin Bank (Tarpongi) towards Bilaspur on RHS while going from Raipur towards Bilaspur on NH 30 (Vijayawada Jagdalpur Highway)	Raipur	Regular	220	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
517	On RHS Between Mowa police station To Santi Sarovar Brahma Kumari Ashram On NH 130B (Raipur Baloda Bazar Highway) whlie going from Raipur towards Baloda Bazar	Raipur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
518	Between Kachehri Chowk to Kalibadi Chowk by Motibag within Raipur Municipality	Raipur	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4

519	At Bemta on LHS while going from Raipur towards Bilaspur on NH 30 (Vijayawada Jagdalpur Highway)	Raipur	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
520	On LHS on NH 130B (Raipur Baloda Bazar Highway) within 2Kms from DPS School towards Baloda Bazar	Raipur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
521	On Hirapur road between Ganpat chowk on Ring Road 2 and Mahoba Bazar within Raipur Municipality	RAIPUR	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
522	At Village Bartori on SH 20 (Tilda to Simga Road)	Raipur	Regular	130	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
523	In Amlidih within Raipur Municipality	Raipur	Regular	150	OBC CC 1	DC	20	20	400	25	60	Draw of Lots	15	4
524	On RHS within 4Kms from village Bhainsa towards baloda bazar on NH 130B (Raipur Baloda Bazar Highway)	Raipur	Regular	150	SC CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
525	On LHS from Accountant General Chhattisgarh Raipur office to DPS School while going towards Baloda Bazar from Raipur on NH 130B (Raipur Baloda Bazar Highway)	Raipur	Regular	155	Open PH	DC	35	45	1575	25	75	Draw of Lots	15	5
526	On LHS from Amapara Chowk to Pandit Ravishankar Shukla University Gate on GE Road within Raipur Municipality	Raipur	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
527	On RHS between Siltara to Charoda on NH 30 (Vijayawada Jagdalpur Highway) while going from Raipur towards Bilaspur	Raipur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
528	On LHS on GE Road from Pandit Ravishankar Shukla University Gate to Tatibandh Chowk within Raipur Municipality	Raipur	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
529	Between Chandni Chowk to Hanuman & Ganesh temple on Jal Gruha Marg within Raipur Municipality	Raipur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
530	Between Ashoka Tower chowk to Doordarshan kendra on RHS while going from Ashoka Tower to Doordarshan Kendra within Raipur Municipality	Raipur	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
531	Devendra Nagar within Raipur Municipality	Raipur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
532	On LHS from Tatibandh Chowk To Ganpat Chowk on Ring Road No 2 within Raipur Municipality	Raipur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
533	On RHS on GE Road from Pandit Ravishankar Shukla University Gate to Tatibandh Chowk within Raipur Municipality	Raipur	Regular	160	ST	CFS	20	20	400	0	0	Draw of Lots	0	3

534	On LHS from PWD Bridge (Rajendra Nagar) to pachpedi naka on NH 53 (Kolkata Mumbai Highway)	Raipur	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
535	On RHS of NH 30 from Fafadih Chowk (Guru Gobind Singh chowk) to junction of Ring Road No 2 with NH 30 while going from Raipur towards Bilaspur	Raipur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
536	On RHS from Kanhera to Dhaneli 1 on new ring road (new bypass road from Tatibandh to NH 30)	RAIPUR	Regular	160	Open CC 1	DC	20	20	400	25	60	Draw of Lots	15	5
537	At Bemta on RHS on NH 30 while going from Raipur towards Bilaspur on NH 30 (Vijayawada Jagdalpur Highway)	Raipur	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
538	On RHS from Make in India square (Telibandha) to new PWD Bridge (Rajendra Nagar) on NH 53 (Kolkata Mumbai Highway)	Raipur	Regular	180	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
539	On LHS of NH 30 from junction of Ring Road No 2 with NH 30 to Vyas talab chowk while going rom raipur towards Bilaspur	Raipur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
540	On Kenal Nahar Road between Telibandha Talab To Pandri Bus Stand within Raipur Municipality	Raipur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
541	At village Mura on RHS of NH 130B (Raipur Baloda Bazar Highway) while going from Raipur towards Baloda Bazar	RAIPUR	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
542	On LHS from Raipura Chowk to Lakhe Nagar chowk on Mahadevghat road within Raipur Municipality	Raipur	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
543	From Shitala Mandir chowk (On Bhatagaon road) to Mahadevghat chowk (Not toward NH) within Raipur Municipality	Raipur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
544	At Village Uparwara Sector 24 Naya Raipur	Raipur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
545	On LHS from Bhumiya to Simga on NH 30 (Vijayawada Jagdalpur Highway) while going from Raipur to Bilaspur	Raipur	Regular	200	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
546	On RHS from Raipura Chowk to Lakhe Nagar chowk on Mahadevghat road within Raipur Municipality	Raipur	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
547	Sarona Near RDA Colony within Raipur Municipality	Raipur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
548	Within 1KM from Telghani Naka Chowk within Raipur Municipality	Raipur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5

549	On RHS from Maa Banjari Mandir (Rawabhata) to Siltara while going from Raipur towards Bilaspur on NH 30 (Vijayawada Jagdalpur Highway)	Raipur	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
550	At Village Temri on VIP road within Raipur Municipality	Raipur	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
551	At Rohinipuram on road connecting Gol chowk to NH 53 within Raipur Municipality	Raipur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
552	On RHS from Accountant General Chhattisgarh (Raipur office) to DPS School while going from raipr towards Baloda Bazar on NH 130B (Raipur Baloda Bazar Highway)	Raipur	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
553	At Mana on new express way (old narrow gauge railway track) within Raipur Municipality	Raipur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
554	Sevra Naya Raipur	Raipur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
555	On Kushalpur Road between Kushalpur Chowk to Khokho Talab within Raipur Municipality	Raipur	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
556	On RHS within 2Kms from DPS School towards Baloda Bazar on NH 130B (Raipur Baloda Bazar Highway)	Raipur	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
557	Within Sector 5 in Naya Raipur	Raipur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
558	At village Nimora on NH 30 (Vijayawada Jagdalpur Highway)	Raipur	Regular	160	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
559	Between Chandni chowk to Purani Basti police station around Swami Vivekanand sarovar within Raipur Municipality	Raipur	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
560	On LHS while going from Raipur to Saraipali between VIP Chowk (Raipur city) to Indira Gandhi Krishi Vishwa Vidyalaya (Raipur city) on NH 53 (Kolkata Mumbai Highway)	Raipur	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
561	On LHS within 4Kms from village Bhainsa towards Baloda Bazar on NH 130B (Raipur Baloda Bazar Highway)	Raipur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
562	On LHS between Avantibai Chowk to Mowa Police Station within Raipur Municipality	Raipur	Regular	150	Open CC 1	DC	20	20	400	25	60	Draw of Lots	15	5
563	Between Shailendra nagar chowk to Akashwani chowk by katora talab market within Raipur Municipality	Raipur	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4

564	On RHS from Bharatmata chowk (red fort chowk) to Gogaon Bazar chowk towards Gogaon within Raipur Municipality	Raipur	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
565	At Chanderi on Simga Bilaspur Road (NH 130)	Balodabazar	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
566	On RHS from Pandaria towards Lormi between KM Stone Number 13 to 15 at village Kapadah on SH 10 (On Pandaria to Lormi Road)	Kawardha	Regular	160	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
567	At Biranpur on SH 5 on Gandai Biranpur road	Kawardha	Regular	130	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
568	At Village Borai on NH 130 CD (Korar By Pass to Kundei)	Dhamtari	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
569	On LHS while going from Bemetara towards Simga between Km. Stone No. 311 to 313 on NH 30 (Bemetara Simga Highway)	Bemetara	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
570	On RHS while going from Kawardha towards Bemetara between KM Stone 269 to 270 on NH 30 (Bemetara Simga Highway)	Bemetara	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
571	On LHS from Dotopar to Lawan between KM Stone No 51 to 53 on NH 130B	Balodabazar	Regular	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
572	On LHS between Charoda to Dharsiwa on NH 30 (Raipur Bilaspur) while going from Raipur towards Bilaspur	RAIPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
573	On Bhatapara by pass road inside industrial area between Dhourabhatha to Khokhli road	Balodabazar	Regular	100	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
574	On RHS of Mahadev ghat road from Raipura Chaok to Mahadevghat within Raipur Municipality	Raipur	Regular	150	Open CC 2	DC	20	20	400	25	60	Draw of Lots	15	5
575	On road connecting between Gol chowk to medicinal Botanical Garden (In Amanaka) within Raipur Municipality	Raipur	Regular	150	OBC CC 1	DC	20	20	400	25	60	Draw of Lots	15	4
576	Raipur city 1 within municipal limit	Raipur	Regular	150	Open	сс	20	20	400	25	10	Bidding	30	5
577	Katgi On Kasdol Gidhauri Road on NH 130B	Balodabazar	Regular	155	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
578	Village Koliha On Lawan Baloda Bazar Road on NH 130B	Balodabazar	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4

579	Raipur city 2 within municipal limit	Raipur	Regular	150	Open	СС	20	20	400	25	10	Bidding	30	5
580	Raipur city 3 within municipal limit	Raipur	Regular	150	Open	СС	20	20	400	25	10	Bidding	30	5
581	In Kachna within Raipur Municipality	Raipur	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
582	Village Bangoli On Raipur Kharora Road on NH 130B	Raipur	Regular	155	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
583	Between Sunil steel mill (at Achholi) to Achholi Bazar chowk Tehsil Raipur	Raipur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
584	On RHS between Avantibai Chowk to Mowa Police Station within Raipur Municipality	Raipur	Regular	200	Open	DC	20	20	400	25	60	Draw of Lots	15	5
585	In Kushalpur road between Santoshi chowk to Kusharpur chowk within Raipur Municipality	Raipur	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
586	Within 3 km of Ranigaon on NH 130 (Bilaspur Korba Raod)	Bilaspur	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
587	Between Avantibai Chowk to Ashoka Tower chowk on lodhi road within Raipur Municipality	Raipur	Regular	200	Open	DC	20	20	400	25	60	Draw of Lots	15	5
588	In Kushalpur road between Santoshi chowk to Danteshwari chowk within Raipur Municipality	Raipur	Regular	150	Open CC 1	DC	20	20	400	25	60	Draw of Lots	15	5
589	In Dudhadhari mandir road between Navdurga chowk to Maharajband Talab	Raipur	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
590	In Jivan Vihar within Raipur Municipality	Raipur	Regular	150	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
591	On Amanaka road between NH 53 and GE road (not on NH) within Raipur Municipality	Raipur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
592	On RHS from PWD Bridge (Rajendra Nagar) to pachpedi naka on NH 53 (Kolkata Mumbai Highway)	Raipur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
593	In Daldal Seoni within Raipur Municipality	Raipur	Regular	150	OBC	СС	20	20	400	25	10	Bidding	30	4

											1	1		
594	On RHS from Bhatagaon Chowk to Raipura Chowk on NH 53 (Kolkata Mumbai Highway)	Raipur	Regular	160	Open	DC	20	20	400	25	60	Draw of Lots	15	5
595	Within 1.5 kms either side from Narayanpur collector office towards Kondagaon on Collectorate Road (within municipal limit)	Narayanpur	Regular	110	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
596	On LHS Between Mowa police station To Santi Sarovar Brahma Kumari Ashram On NH 130B (Vidhansabha Road) while going from Raipur towards Baloda Bazar	Raipur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
597	At Village Chandeladih on SH 16 (Sakti Malkharoda Road) on RHS from Sakti towards Malkharoda	Janjgir	Regular	110	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
598	Within Naya Raipur 1	Raipur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
599	Within 2 km from Barbaspur chowk towards champa on NH 149B	Korba	Regular	160	ST PH	CFS	20	20	400	0	0	Draw of Lots	0	3
600	Between Jain Mandir chowk and ITI chowk	korba	Regular	110	ОВС РН	DC	20	20	400	25	45	Draw of Lots	15	4
601	Within Naya Raipur 2	Raipur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
602	Within Naya Raipur 3	Raipur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
603	Within 2 km from Dhynchand chowk towards Balco	Korba	Regular	110	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
604	Within 2 km from CSEB chowk towards Katghora	korba	Regular	110	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
605	Within Naya Raipur 4	Raipur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
606	Ramnagar within Raipur Municipality	Raipur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
607	On LHS between mile stone 64 to 67 on NH 130	Korba	Regular	160	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
608	On RHS between mile stone 64 to 67 on NH 130	Korba	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3

_			1											
609	On LHS from Bharatmata chowk (red fort chowk) to Gogaon Bazar chowk towards Gogaon within Raipur Municipality	Raipur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
610	At Deopuri on NH 30 (Vijayawada Jagdalpur Highway)	RAIPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
611	At Village Konari on SH 20 (Tilda to Simga Road)	Raipur	Regular	130	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
612	Within 2 km from Netaji chowk towards kera	Janjgir	Regular	110	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
613	Within Nagar panchyat limit of NayaBaradwar (Not on Highway)	Janjgir	Regular	110	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
614	Within 1.5 KM from KVK Bio energy Pvt. Ltd. Towards Janjgir On new NH 49	Janjgir	Regular	160	Open CC 1	DC	35	35	1225	25	75	Draw of Lots	15	5
615	Within 2 km from Konkona resort on NH 130	Korba	Regular	160	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
616	On Avanti Vihar Road Between Sai Kalyan Hospital To Telibandha Chowk within Raipur Municipality	Raipur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
617	Within 3 KM from KVK Bio energy Pvt. Ltd. Towards Bilaspur On new NH 49	Janjgir	Regular	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
618	At village Kunra on NH 30 (Raipur To Bilashpur Highway) on LHS while going from Raipur towards Bilaspur	RAIPUR	Regular	180	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
619	Within 2 km from chotiya chowk towards Ambikapur on NH 130	Korba	Regular	160	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
620	At village Mura on LHS of NH 130B while going from Raipur towards Baloda Bazar	RAIPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
621	From Mahoba bazar chowk to Kabir chowk within Raipur Municipality	RAIPUR	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
622	Between Agrasen chowk to Kharsiya Chowk ambikapur	Surguja	Regular	100	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
623	Between Bilaspur chowk to Mahamay Chowk Ambikapur	Surguja	Regular	100	OBC CC 1	DC	20	20	400	25	45	Draw of Lots	15	4

624	In Deopuri On road connecting NH30 and new expressway (Not on NH) on RHS while going from NH30 towards new expressway	RAIPUR	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
625	Between Mayapur chowk and Chandni chowk Ambikapur	Surguja	Regular	100	Open PH	DC	20	20	400	25	45	Draw of Lots	15	5
626	Within 2 km from Agarsen chowk Surajpur on ketka road	Surajpur	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
627	Within 2 km from Subhas chowk Surajpur on Bhaiyyathan road	Surajpur	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
628	In Kamal Vihar within Raipur Municipality	RAIPUR	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
629	Within 2 KM ghadi chowk Baikunthpur not on NH	Koria	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
630	Within 3 km from Chattisgarh Gramin Bank barbaspur on NH43(Katni ghumla road)	Koria	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
631	On LHS while going from Nandghat to Bilaspur at Chicholi on NH 130 (Raipur to Bilaspur Highway)	Bemetara	Regular	150	Open	СС	35	45	1575	25	10	Bidding	30	5
632	On RHS while going from Bemetara towards Dhamdha at Singhauri Bemetara on SH 7 (Bemetara to Durg Highway)	Bemetara	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
633	Within 3Km From Rajiv Gandhi Chowk village Navagarh on SH 7 (Navagarh Bemetara Road)	Bemetara	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
634	Bhatgaon On Bhatgaon Sarsiwa Road on NH 130B	Balodabazar	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
635	Within 3 km from Kathotia Chowk Kathotia on NH43	Koria	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
636	On LHS from VIP Chowk to new bridge of new expressway (old narrow gauge railway track) (Telibandha) on NH 53 (Kolkata Mumbai Highway)	Raipur	Regular	180	Open	DC	20	20	400	25	60	Draw of Lots	15	5
637	Within 2 km from Poilce station Chirmiri badabazar	Koria	Regular	100	Open CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
638	Within 2 km from Central Bank of india Khaongapani on Khongapani road	Koria	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4

													1	ı
639	Within 3 km from Post office Bandarchuwa on NH43(katni ghumla road)	Jashpur	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
640	On LHS while coming from Odisha towards Raipur between Km stone no 128 to 129 on NH 53 (Kolkata Mumbai Highway)	Raipur	Regular	180	Open	СС	35	45	1575	25	10	Bidding	30	5
641	Within 2 km from Maharaj chowk Jashpur	Jashpur	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
642	At village Pipardulla on NH 130B	Balodabazar	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
643	On RHS within 5 Kms from Champa Railway Crossing Towards Korba on NH 149B	Janjgir	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
644	Within 2 KM from Govt School Bhatgaon on Bhatgaon main road	Surajpur	Regular	100	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
645	Between Km stone no 6 to 10 on NH343(Ambikapur Ramanujganj	Surguja	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
646	Mohlain on NH 130(On Simga Bilaspur Road).	Bemetara	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
647	On LHS while going from NH-53 towards Mahasamund between Ghodari to Mahasamund Railyway line on NH-353	Mahasamund	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
648	Within 3 km from SBI baghima towards Balrampur on NH343(Ambikapur ramanujganj)	Balrampur	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
649	Within 1 km of Kamla Devi Govt.College Rajnandgaon on Kamla College Road	Rajnandgaon	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
650	On LHS going from baloda Bazar to Raipur at Village Bhainsa on Baloda Bazar Raipur Road (NH 130B)	Balodabazar	Regular	160	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
651	Village Sambalpur on NH 130 by-pass (Pendridih Sakri Bypass)	Bilaspur	Regular	160	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
652	From Basantpur road and Gaurav Path junction to Dhyanchand Idol on Gaurav Path	Rajnandgaon	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
653	From Anupam Nagar Chowk towards NH 53 on Basantpur Road	Rajnandgaon	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3

654	Sarsiwa On Sarsiwa Sarangarh Road on NH 130B	Balodabazar	Regular	160	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
655	At village Bitkuli on Suhela Hathband Road On SH	Balodabazar	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
656	Within 1 KM either side of Liquor Shop (Rajnandgaon Bypass road) on Rajnandgaon Bypass Road	Rajnandgaon	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
657	Between Uco Bank (Kailash Nagar branch) and Shivnath Vatika	Rajnandgaon	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
658	Between Chhatisgarh Griha Nirman Colony entrance to Baloda Bazar Bhatapara Road (SH 10) at Lal Bahadur Shastri ward village Patpar	Balodabazar	Regular	130	Open	СС	40	40	1600	25	10	Bidding	30	5
659	From Rohra to Tarenga on SH 10	Balodabazar	Regular	120	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
660	Between Bharatmata Chowk and Khandelwal Hotel On Kamptee line road	Rajnandgaon	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
661	At Village Risda On Baloda Bazar Bypass Between The Two junctions (Bypass With Baloda Bazar Suhela Road & Bypass With Baloda Bazar Bhatapara Road)	Balodabazar	Regular	160	Open	DC	20	20	400	25	45	Draw of Lots	15	5
662	Village Khapridih khurd on NH 130B	Balodabazar	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
663	Between Hotel Gujrat Inn and Railway Station chowk	Rajnandgaon	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
664	Between Bharat Mata Chowk Balod and Rajhara Chowk	Balod	Regular	100	Open CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
665	On RHS Within 2 kms from Bhopalpatnam forest check post towards Bijapur on NH 63 (Nizamabad Mancherial Jagdalpur Highway) while going from Bhopalpatnam	Bijapur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
666	On LHS Within 2 kms from Keshkal court towards Jagdalpur on NH 30 (Raipur Jagdalpur Road) while going from Kanker	Kondagaon	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
667	At village Umarda on NH 130 CD (Kurud by pass to Ratwa)	Dhamtari	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
668	Within 2 kms from Police station at Madded on NH 63 (Nizamabad Mancherial Jagdalpur Highway) towards bhopalpattan while going from bijapur	Bijapur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5

669	On RHS Within 2 kms from Nirmal Niketan Vidyalaya at Kaarli Haram towards Dantewada while going from Geedam on NH 163A (Geedam Dantewada Highway)	Dantewada	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
670	Within 1 kms either side of SBI Naimed Branch on NH 63 (Nizamabad Mancherial Jagdalpur Highway)	Bijapur	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
671	At Village Birjhuli on NH 130CD (Kurud by pass to Ratwa)	Dhamtari	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
672	Within 3 kms either side of Navodaya vidyalaya at Penta on NH 30 (Raipur Jagdalpur Highway)	Sukma	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
673	2 kms from SBI Jangla Branch towards Jagdalpur on NH 63 (Nizamabad Mancherial Jagdalpur Highway)	Bijapur	Regular	150	Open CC 2	DC	35	45	1575	25	75	Draw of Lots	15	5
674	At village Raikot on NH 63 (Nizamabad Mancherial Jagdalpur Highway)	Bastar	Regular	150	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
675	2 kms from SBI Jangla Branch on NH 63 (Nizamabad Mancherial Jagdalpur Highway) towards Bijapur	Bijapur	Regular	150	ST CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
676	Between 4 kms and 8 kms from Keshkal court towards Jagdalpur on NH 30 (Raipur Jagdalpur Road)	Kondagaon	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
677	On LHS Within 5 kms from State Bank of India Kondagaon branch on NH 30 (Raipur Jagdalpur Road) towards raipur while going from Jagdalpur	Kondagaon	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
678	At village Megha On NH 130CD (Kurud by pass to Ratwa)	Dhamtari	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
679	Within 2 Kms from Hotel Green palm at Kanker towards jagdalpur within Kanker Municipality	Kanker	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
680	On RHS Within 5 kms from State Bank of India Kondagaon branch on NH 30 (Raipur Jagdalpur Road) towards raipur while going from Jagdalpur	Kondagaon	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
681	Within 5 kms from SBI branch Kondagaon on NH 130D (Kondagaon Narayanpur Highway) on Narayanpur Road	Kondagaon	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
682	At village Khutgoan on SH 25 (Bhanupratapur Pakhajore road)	Kanker	Regular	100	ОВС	DC	35	35	1225	25	60	Draw of Lots	15	4
683	On RHS within 4 Kms either side from Bhanpuri police station on NH 30 on NH 30 (Raipur Jagdalpur Road) while going from Jagdalpur	Bastar	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5

684	Within 2 Kms from Sarona Bus Stand Towards Kanker on SH 6 (Bhanupratappur Kanker Road)	Kanker	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
685	On LHS within 2 Kms from Adwal Hanuman Mandir on NH 63 towards orissa while going from Jagdalpur	Bastar	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
686	At village Sirsida Tehsil Nagri on NH 130CD (Kurud by pass to Ratwa)	Dhamtari	Regular	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
687	At village Matwada on NH 63 (Nizamabad Mancherial Jagdalpur Highway)	Bijapur	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
688	Within 2 kms from Police Station at Kodenar(Kodenar Jagdalpur Road) on NH 63 (Nizamabad Mancherial Jagdalpur Highway) towards jagdalpur while going from Geedam	Bastar	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
689	Within 5kms from Junction of SH 5 and NH 63 (Nizamabad Mancherial Jagdalpur Highway) towards Bijapur on NH 63	Dantewada	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
690	On LHS within 3Kms from Post Office at Bastar towards Raipur on NH 30(Raipur Jagdalpur Road) while going from jagdalpur	Bastar	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
691	On RHS within 3 Kms from Post Office at Bastar towards Raipur on NH 30(Raipur Jagdalpur Road) while going from jagdalpur	Bastar	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
692	Within 1 KM from Livlihood college Naraynpur	Narayanpur	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
693	Kirandul within Municipal limit	Dantewada	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
694	On RHS within 3Kms from SBI at Bastar towards Jagdalpur on NH 30(Raipur Jagdalpur Road) while going from Raipur	Bastar	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
695	within 3 kms from Mrignaini Handicraft towards Jagdalpur	Bastar	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
696	Within 1KM from Junction of SH 5 and NH 63 (Nizamabad Mancherial Jagdalpur Highway) towards Geedam on NH 63	Dantewada	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
697	On LHS Within 2 Kms from Bhairamgarh tehsil towards Bijapur on NH 63 (Nizamabad Mancherial Jagdalpur Highway) while going from Geedam	Bijapur	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
698	On LHS at village Dongardula on (Sihawa Nagri Dhamtari Road) NH 130 CD (Kurud by pass to Ratwa) while going from Dhamtari	Dhamtari	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5

699	On LHS Between KM Stone No 205 to 208 while going from from Dhamtari to Jagdalpur on NH 30 (Raipur Jagdalpur Road)	Kondagaon	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
700	At village Belnar on NH 63 (Nizamabad Mancherial Jagdalpur Highway)	Bijapur	Regular	150	OBC PH	DC	35	45	1575	25	75	Draw of Lots	15	4
701	At vilage Errabore on NH 30 (Raipur Jagdalpur Highway)	Sukma	Regular	150	ST PH	CFS	35	45	1575	0	0	Draw of Lots	0	3
702	Between Power house chowk and Samund chowk within Jagdalpur Municipality	Bastar	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
703	4 Kms either Side of State Bank of India Branch at Nakulnar on SH 5 (Dantewada Sukma Highway)	Dantewada	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
704	At village Bade Tumnar on NH 63 (Nizamabad Mancherial Jagdalpur Highway)	Dantewada	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
705	On LHS within 4 Kms from Mhararana Pratap Chowk at Jagdalpur towards Raipur On NH 30 (Raipur Jagdalpur Highway) while going from Jagdalpur	Bastar	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
706	At village Khalemurvend on NH 30 (Raipur Jagdalpur Road)	Kondagaon	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
707	On RHS Within 3 kms from State Bank of India at Aturgoan while going from Raipur on NH 30 (Raipur Jagdalpur Highway)	Kanker	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
708	At village Gohda on NH 130D (Kondagaon Narayanpur Highway)	Narayanpur	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
709	Within 2 kms from Saraswati Shishu mandir Mandir at Kanker on kanker Bypass on NH 30(Raipur Jagdalpur Highway)	Kanker	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
710	Within 2 kms from Zila Panchayat office at sukma towards malkangiri	sukma	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
711	Within 2 kms towards Durg from Transport Nagar Balod on NH 930(Durg Dalli Rajhara Road)	Balod	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
712	Within 2 Kms from Indian Overseas Bank Branch at Amdi Branch towards Dhamtari on SH 23	Dhamtari	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
713	At village Odsa on NH 63 (Nizamabad Mancherial Jagdalpur Highway)	Bijapur	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5

714	On RHS within 2 kms from Mahila samudayik Bhavan at Manchandur towards Jagdalpur while going from Raipur NH 30(Raipur Jagdalpur Highway)	Kanker	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
715	On RHS within 2 kms from Mother teresa school at Sukma towards jagdalpur on NH 30 (Raipur Jagdalpur Highway) while going from sukma	Sukma	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
716	On LHS while going from Raipur towards Dhamtari within 3 Kms from trijunction of Jarhimata Mandir road and NH 30 (Raipur Jagdalpur Highway)	Dhamtari	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
717	On RHS between Tata Motors and Sky Automobile on NH 30(Raipur Jagdalpur Highway) while going from Raipur	Dhamtari	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
718	At Village Lendra on NH 30 (Raipur Jagdalpur Highway)	Bastar	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
719	At village Kukdadah on NH 30 (Raipur Jagdalpur Road)	Kondagaon	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
720	Within 2 Kms either side from Birejhar Police Station Towards Raipur on NH 30	Dhamtari	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
721	On RHS within 2 Kms From Sihawa Chowk at Dhamtari Towards Nagri on SH 23 while going from Dhamtari	Dhamtari	Regular	100	Open	DC	20	20	400	25	60	Draw of Lots	15	5
722	Within 2 kms from Lanjoda High school towards Farshgoan on NH 30 (Raipur Jagdalpur Road)	Kondagaon	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
723	At village Kolnar on NH 63 (Nizamabad Mancherial Jagdalpur Highway)	Bijapur	Regular	150	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
724	At village Belchar on NH 63 (Nizamabad Mancherial Jagdalpur Highway)	Bijapur	Regular	150	SC CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
725	Within 3 Kms From Govt Higher Secondary School At Konta on NH 30 towards Jagdalpur	Sukma	Regular	150	Open PH	DC	35	45	1575	25	75	Draw of Lots	15	5
726	Within 3 Kms Of Baba Ramdev Temple at Geedam towards Dantewada on NH 63 (Nizamabad Mancherial Jagdalpur Highway) and NH 163A (Geedam Dantewada Highway)	Dantewada	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
727	Within 1 kms from SH 6 (Bhanupratappur Korar Road) on Kanker bypass	Kanker	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
728	On LHS Within 2 Km from Chattisgarh Rajya Gramin bank at Jawanga towards Geedam on NH 63 (Nizamabad Mancherial Jagdalpur Highway) while going from Jagdalpur	Dantewada	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3

729	2 kms from Government Polytechnic College Narayanpur towards Bastaria Dhaba on NH 130 D (Kondagaon Narayanpur Highway) within Municipal Limit	Narayanpur	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
730	Within Jagriti Nagar within Raipur Municipality	Raipur	Regular	150	OBC	СС	20	20	400	25	10	Bidding	30	4
731	Within 3 kms either side of Police station Narayanpur on SH 5	Narayanpur	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
732	3 kms either side of Rajiv Gandhi Seva Kendra Bhatpal on NH 130D (Kondagaon Narayanpur Highway)	Narayanpur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
733	Within 3 kms either side of the junction of on SH 25 (Bhanupratapur pakhajore road) and road connecting via Halmadi at Murkaguddom on SH 25	Kanker	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
734	At village Marod on NH 30 (Raipur Jagdalpur Highway)	Dhamtari	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
735	Within 4 kms either side of Shiv Mandir kokodi on NH 130D (Kondagaon Narayanpur Highway)	Narayanpur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
736	Within 2 kms towards Dallirajhara from Transport Nagar Balod on NH 930(Durg Dalli Rajhara Road)	Balod	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
737	Dantewada town within municipal limit	Dantewada	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
738	3 kms either side of VAISHNAV GRAHAK SEVA KENDRA at Sonarpal on NH 30 (Raipur Jagdalpur Highway)	Bastar	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
739	Within 5 kms from Nahar Naka chowk on SH 23 towards Nagri on SH 23(Dhamtari Nagri Road)	Dhamtari	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
740	Kondagaon within Municipal Limit not on NH and umerkot konagoan road	Kondagaon	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
741	At Village Bastanar on NH 63 (Nizamabad Mancherial Jagdalpur Highway)	Bastar	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
742	Village Kohaka on NH 53(Raipur Nagpur Highway) at LHS while going to Nagpur	Rajnandgaon	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
743	within 3 Kms of Sandha Chowk Kurud on NH 30 (Raipur Jagdalpur Highway)	Dhamtari	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5

			ı					ı					l	
744	1.5 kms from SH 5 on Naraynpur kukdajhor marg (within Municipal Limit)	Narayanpur	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
745	On Umerkot Kondagaon Road within municipal limit	Kondagaon	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
746	At village Chindhgarh on NH 30 (Raipur Jagdalpur Highway)	Sukma	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
747	Within 5 kms from Shitala mandir at Dhanelikanhar towards Bhanupratapur on SH 6 (Bhanupratappur Kanker Road)	Kanker	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
748	On Sonpur Road Connecting Vivekanand ground and SH 5	Narayanpur	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
749	at vilage brehbeda on NH 130D (Kondagaon Narayanpur Highway)	Narayanpur	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
750	At village Dadargadh on NH 30 (Raipur Jagdalpur Road)	Kondagaon	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
751	Within 4km from main chowk of kewati towards Antagarh on SH 5	Kanker	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
752	Village Kohaka on NH 53(Raipur Nagpur Highway) at RHS while going to Nagpur	Rajnandgaon	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
753	Between 4 and 8 kms from Bhanupratapur Chowk towards makdi on SH 6 (Bhanupratappur Kanker Road) (Bhanupratappur Kanker Road)	Kanker	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
754	Within 2 kms from Junction of NH 30 and Keshkal Korgoan Road on NH 30 (Raipur Jagdalpur Road) towards Kanker	Kondagaon	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
755	Within 2 kms from Mata mandir Gollaguda Bhopalpattnam on NH 63 (Nizamabad Mancherial Jagdalpur Highway) (within District Bijapur Chattisgarh)	Bijapur	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
756	Between Makdi Dhaba at Udkuda upto SH 6 (Bhanupratappur Kanker Road) Junction	Kanker	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
757	From City kotwali Narayanpur towards Sai Mandir Narayanpur via sulanga	Narayanpur	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
758	Within 2 Kms from NH 30 towards Gangrel Dam Road (Not on NH)	Dhamtari	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5

			1										l	
759	At village Haucher on SH 5 (Antagarh Narayanpur Road)	Kanker	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
760	At Village kukanar on NH 30(Raipur Jagdalpur Highway)	Sukma	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
761	Between Ghadi Chowk/Makai Chowk and Gokulpur Chowk via Bilaai Mata Mandir at Dhmatari	Dhamtari	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
762	Mungeli Within Municipal Limit At Mungeli Raipur Road	Mungeli	Regular	100	Open CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
763	within 2 kms either side of Shri Ram Auto Parts Kodebod on NH 20 (Raipur jagdalpur Road)	Dhamtari	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
764	At Village Manpahrri (Khaprakhol) on SH 10	Bilaspur	Regular	110	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
765	Between Rajiv Gandhi Chowk To Mother Teresa Chowk Bilaspur within municipal limit	Bilaspur	Regular	105	Open	DC	20	20	400	25	45	Draw of Lots	15	5
766	Bilaspur Within municipal limit on Dayalband Road	Bilaspur	Regular	120	Open	СС	20	20	400	25	10	Bidding	30	5
767	Between Shanichari Choupati to Lal Bahadur School Bilaspur within municipal limit	Bilaspur	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
768	Ratanpur To Pendra Road on new NH 45 Between Mile Stone No 34 To 37	Bilaspur	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
769	Bilaspur within municipal limit Between Mahamaya Chowk To Indira Vihar Chowk	Bilaspur	Regular	100	Open	СС	20	20	400	25	10	Bidding	30	5
770	On Vyapar Vihar Road Bilaspur within municipal limit (BETWEEN FCI GODOWN TO RAILWAY STATION ROAD)	Bilaspur	Regular	105	Open	СС	20	20	400	25	10	Bidding	30	5
771	Bilaspur From Nature City To Rama Life City At Mungeli Road	Bilaspur	Regular	105	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
772	From Mangla Chowk To St. Palauti High School Bilaspur	Bilaspur	Regular	108	Open	сс	20	20	400	25	10	Bidding	30	5
773	From Arpa Bridge Darrighat To Ganesh Rice Mill on NH 130	Bilaspur	Regular	150	ST CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3

774	Mungeli Within Municipal Limit At Mungeli Pandariya Road	Mungeli	Regular	100	Open CC 2	DC	20	20	400	25	45	Draw of Lots	15	5
775	Mungeli Within Municipal Limit At Mungeli Bilaspur Road	Mungeli	Regular	100	OBC CC 1	DC	20	20	400	25	45	Draw of Lots	15	4
776	Jairamnagar on New Bypass Road	Bilaspur	Regular	105	Open	DC	20	20	400	25	45	Draw of Lots	15	5
777	Gram Kirari On NH 49 at Kirari Masturi Road	Bilaspur	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
778	On NH 130A At Mungeli Bilaspur Road From Daupara Chowk To New Collector Office	Mungeli	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
779	On Mopka To Jairam Nagar Main Road From Farhada To Jai Maa Vaibhav Laxmi Fly Ash Bricks Plant (Other Bypass Road)	Bilaspur	Regular	104	Open	СС	20	20	400	25	10	Bidding	30	5
780	Within 1KM from Chantidih Chowk towards rajkishor Nagar Bilaspur within Municipal limit	Bilaspur	Regular	110	Open	DC	20	20	400	25	45	Draw of Lots	15	5
781	On NH 130A From Fasterpur Chouk To Kunda Road (Mungeli Pandariya Road)	Mungeli	Regular	150	OBC	СС	35	45	1575	25	10	Bidding	30	4
782	Village Risda On Risda Suhela Road bypass road	Bilaspur	Regular	110	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
783	On Tikar Bypass at Tikar Kala from Gaurella Bus Stand to Jyotipur Chowk (Nagar Pnachayat Gaurella)	Bilaspur	Regular	110	Open	СС	20	20	400	25	10	Bidding	30	5
784	At Takhatpur Between Sardar BPC To Govt. New Girls Higher Secondary School on NH 130A	Bilaspur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
785	Gram Hardi Kala Tona on NH 49 at new constructed road (Bilasur Pendridih Masturi Raigharh Road)	Bilaspur	Regular	155	OBC	СС	35	45	1575	25	10	Bidding	30	4
786	KargiKhurd on Between Kota to Lormi Road SH 10	Bilaspur	Regular	110	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
787	Bilaspur within municipal limit From Nutan Chowk (Khubchand Baghel Chowk) To Ashok Nagar Chowk.	Bilaspur	Regular	105	Open	СС	20	20	400	25	10	Bidding	30	5
788	Bilaspur Within Municipal Limit At Bilaspur Ratanpur Road	Bilaspur	Regular	100	Open CC 1	DC	20	20	400	25	45	Draw of Lots	15	5

_														
789	Between Mile Stone 13 To 10 On Left Hand Side While Going From Pendridih To Sakri At (NH 130)	Bilaspur	Regular	160	OBC	СС	35	45	1575	25	10	Bidding	30	4
790	On SH 10 (Mungeli To Raipur Road) Between Mile Stone Km 2 To 4 on Left Hand Side While Going From Mungeli To Raipur	MUNGELI	Regular	105	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
791	Mungeli Within Municipal Limit On Bypass From Padav Chouk To Lormi Tiraha on Left Hand Side While Going From Mungeli To Lormi	MUNGELI	Regular	110	Open	DC	20	20	400	25	45	Draw of Lots	15	5
792	Between Delhi Public School To Nexa Showroom on Right Hand Side While Going From Bilaspur Raipur Road	Bilaspur	Regular	110	Open	сс	20	20	400	25	10	Bidding	30	5
793	Kenda On NH 45	Bilaspur	Regular	150	OBC	сс	35	45	1575	25	10	Bidding	30	4
794	Between Vansh Ford Showroom to Sakri Police Chouki on NH 130A at Right Hand Side while going from Bilaspur to Mungeli	Bilaspur	Regular	160	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
795	Bilaspur within municipal limit on Warehouse Road	Bilaspur	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
796	Between Angan Badi Kendra Madanpur To Shri Malhari Martand Khandoba Mandir on NH 130 at left hand side while going from Bilaspur Ratanpur Road	Bilaspur	Regular	174	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
797	Bilaspur Within Municipal Limit At Bilaspur Masturi Road	Bilaspur	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
798	At Sendri On NH 130	Bilaspur	Regular	160	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
799	Bilaspur Within Municipal Limit Between Nehru Chowk To Mangla Chowk	Bilaspur	Regular	100	ST PH	CFS	20	20	400	0	0	Draw of Lots	0	3
800	Bilaspur Within Muncipal Limit Between Torwa Chowk To Rajkishore Nagar Road	Bilaspur	Regular	100	OBC PH	DC	20	20	400	25	45	Draw of Lots	15	4
801	On NH 130A From Mugeli Collector Office To Jila Panchayat Office At Gidha	MUNGELI	Regular	156	Open	СС	35	45	1575	25	10	Bidding	30	5
802	At Khodri on NH 45	Bilaspur	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
803	On NH 130A (Bilaspur Mungeli Road) between Mile Stone No. 89 To 84 Towards Mungeli road	Bilaspur	Regular	154	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4

804	Within Nagar Panchayat limit of Khongapani not on NH/SH	Koria	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
805	Between AGRO Rice Mill to Jairam Nagar on NH By pass	Bilaspur	Regular	160	Open	СС	35	45	1575	25	10	Bidding	30	5
806	Between Chandrakhuri Rest Houe To Baitalpur Chruch Chandrakhuri On NH 130	MUNGELI	Regular	160	Open	СС	35	45	1575	25	10	Bidding	30	5
807	At Jhalpha Under Bilha Tehsil on NH 49	Bilaspur	Regular	154	OBC	СС	35	45	1575	25	10	Bidding	30	4
808	Within 5 Kms Froms Sendri Turning On Sendri Mopka By Pass	Bilaspur	Regular	100	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
809	PARAGHAT on NH 49	Bilaspur	Regular	155	Open	СС	35	45	1575	25	10	Bidding	30	5
810	Between KM Stone no 61 To 64 from Ratanpur To Marwahi Road on NH 45	Bilaspur	Regular	154	Open	СС	35	45	1575	25	10	Bidding	30	5
811	Between KM Stone NO 35 to 38 on Takhatpur Mungeli road on NH 130A on left hand side while going from Takhatpur to Mungeli	Mungeli	Regular	160	Open	СС	35	45	1575	25	10	Bidding	30	5
812	At Mungeli Pandariya Road Between Mile Stone Km 6 To 8 on NH 130A	Mungeli	Regular	156	OBC	СС	35	45	1575	25	10	Bidding	30	4
813	Within Nagar Panchayat limit of Nai Ledari not on NH/SH	Koria	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
814	Bilaspur Within Municipal Limit Between Agrasen Chowk To Railway Station	Bilaspur	Regular	100	Open CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
815	Between Mile Stone No. 1 To 3 on Left Hand Side while going from Kota to Lormi SH 10	Bilaspur	Regular	104	OBC	СС	35	35	1225	25	10	Bidding	30	4
816	Between KM Mile Stone No 88 to 90 on NH 130 (Raipur Bilaspur Highway) on Right Hand Side while going from Raipur towards Bilaspur	MUNGELI	Regular	160	Open	СС	35	45	1575	25	10	Bidding	30	5
817	Within nagar panchayat limit of Premnagar Not on NH/SH	Surajpur	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
818	Between Jarhagaon Thana To Shyam Rice Mill On NH 130A on Bilaspur Mungeli Road	Mungeli	Regular	155	Open	СС	35	45	1575	25	10	Bidding	30	5

												1		
819	At Bodri within municipal limit	Bilaspur	Regular	106	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
820	Between Mile stonenKM 11 to 15 on NH 130 from Bilaspur To Ratanpur Road	Bilaspur	Regular	160	Open	СС	35	45	1575	25	10	Bidding	30	5
821	From Kadar To Pendridih between Mile Stone Km 8 To 12 on NH 49	Bilaspur	Regular	150	Open	СС	35	45	1575	25	10	Bidding	30	5
822	Bilaspur Within Municipal Limit At Imlipara Road	Bilaspur	Regular	100	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
823	On NH 130 Between Milse Stone Km Bilhamod 11 To 8 (Raipur Bilaspur Road)	Bilaspur	Regular	150	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
824	Between Sakri Chowk to Lokhandi Railway Crossing on Right Hand Side while Going From Sakri To Turkadih on NH 130	Bilaspur	Regular	160	Open	СС	35	45	1575	25	10	Bidding	30	5
825	Bilaspur Within Municipal Limit From Nehru Chowk To Golbazar	Bilaspur	Regular	100	Open PH	DC	20	20	400	25	45	Draw of Lots	15	5
826	Between Ganesh Mod and Pachaval Chowk On Balrampur Chando Road on SH12A	Balrampur	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
827	At Malhar within municipal limit	Bilaspur	Regular	100	OBC	СС	20	20	400	25	10	Bidding	30	4
828	Between Sargaon To Kirna on Left Hand Side while going from Sargaon To Kirna (Bilaspur Raipur Road) on NH 130	Mungeli	Regular	155	Open	СС	35	45	1575	25	10	Bidding	30	5
829	At Sargaon within municipal limit	Mungeli	Regular	110	OBC	СС	20	20	400	25	10	Bidding	30	4
830	Beltara on NH 130 (Between Km Stone no. 34.0 to Km Stone no. 38.0	Bilaspur	Regular	160	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
831	Between KM stone no: 15 To 19 On SH 8 on left hand side while going from Shakhwa Marwahi Road.	Bilaspur	Regular	124	Open	СС	35	35	1225	25	10	Bidding	30	5
832	On SH 10 from CSPDCL Office To Gram Pendri Talab Bhavhan Jhori Pool At (Lormi Bilaspur Road)	Mungeli	Regular	110	Open	СС	35	35	1225	25	10	Bidding	30	5
833	Between Sardha Canel To Sardha Warehouse on SH 10 (Lormi Pandariya Road)	Mungeli	Regular	104	Open	СС	35	35	1225	25	10	Bidding	30	5

834	At Patharia within municipal limit	Mungeli	Regular	100	ОВС	СС	20	20	400	25	10	Bidding	30	4
835	On NH 130 Between Village Lokhandi To Turkadih Village	Bilaspur	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
836	At Baridih On NH 45 between village Chapora and Belgahna Chowk	Bilaspur	Regular	160	Open	СС	35	45	1575	25	10	Bidding	30	5
837	From Lalkhadan to Sirgitti bypass	Bilaspur	Regular	100	Open CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
838	Between Ratanpur to Sillimode on NH 45 (Ratanpur Pendra Road)	Bilaspur	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
839	Between village Pendari Kohrauda on NH 49 (Bilaspur Masturi Road)	Bilaspur	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
840	Khairkhundi on Ratanpur Korba By pass road (NH 130)	Bilaspur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
841	On RHS while going from Gariaband to Odisha between Milestone No. 175 To 178 on NH 130C (Abhanpur Gariabandh Deobhog Highway)	Gariyaband	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
842	At Sirgitti Within Municipal Limit (Bannak Chowk to Chandmari Chowk)	Bilaspur	Regular	110	Open	СС	20	20	400	25	10	Bidding	30	5
843	At Bilha Within Municipal Limit	Bilaspur	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
844	On LHS while going from Gariaband to Odisha between Milestone No. 175 To 178 on NH 130C (Abhanpur Gariabandh Deobhog Highway)	Gariyaband	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
845	On RHS while going from Gariaband to Odisha between Milestone No. 179 To 182 on NH 130C (Abhanpur Gariabandh Deobhog Highway)	Gariyaband	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
846	At Kota within municipal Limit	Bilaspur	Regular	105	Open	DC	20	20	400	25	45	Draw of Lots	15	5
847	At Gaurella within municipal limit	Bilaspur	Regular	112	Open	DC	20	20	400	25	45	Draw of Lots	15	5
848	On LHS while going from Gariaband to Odisha between Milestone No. 179 To 182 on NH 130C (Abhanpur Gariabandh Deobhog Highway)	Gariyaband	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3

849	On RHS while going from Gariaband to Odisha between Milestone No. 182 To 186 on NH 130C (Abhanpur Gariabandh Deobhog Highway)	Gariyaband	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
850	At Pendra within municipal limit	Bilaspur	Regular	110	Open	DC	20	20	400	25	45	Draw of Lots	15	5
851	At Sakri within municipal limit	Bilaspur	Regular	120	Open	DC	20	20	400	25	45	Draw of Lots	15	5
852	On LHS while going from Gariaband to Odisha between Milestone No. 182 To 186 on NH 130C (Abhanpur Gariabandh Deobhog Highway)	Gariyaband	Regular	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
853	Between Pathariya turning to village pendri truning on NH 130 at right hand side while going from Bilaspur to Raipur	Mungeli	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
854	At Lormi within municipal limit	Mungeli	Regular	115	Open	DC	20	20	400	25	45	Draw of Lots	15	5
855	Between Bardahinala (Bhawani Rice Mill) To Khapri Rest Houe on Right Hand Side While Going From Bilaspur To Takhatpur On NH 130A	Bilaspur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
856	On LHS while going from Gariaband to Odisha between Milestone No. 130 To 134 on NH 130C (Abhanpur Gariabandh Deobhog Highway)	Gariyaband	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
857	On RHS while going from Gariaband to Odisha between Milestone No. 130 To 134 on NH 130C (Abhanpur Gariabandh Deobhog Highway)	Gariyaband	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
858	Between KM Mile stone No 2 to 5 on RHS while going from Bilaspur to Raipur on NH 130 (Raipur Bilaspur Highway)	Bilaspur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
859	At Tattapani on NH 343	Balrampur	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
860	On LHS while going from Gariaband to Odisha between Milestone No. 135 To 138 on NH 130C (Abhanpur Gariabandh Deobhog Highway)	Gariyaband	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
861	Within 1 km from Oriental College Of Nursing Manikpur Korba	Korba	Regular	110	Open	DC	20	20	400	25	45	Draw of Lots	15	5
862	On RHS while going from Gariaband to Odisha between Milestone No. 135 To 138 on NH 130C (Abhanpur Gariabandh Deobhog Highway)	Gariyaband	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
863	At Village Mujalgondi on NH 30 (Vijaywada Jagdalpur Raipur Highway)	Balod	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4

	At Baghnadi on LHS while going to Nagpur on NH 53(Raipur Nagpur													
864	Highway)	Rajnandgaon	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
865	Within 2 Kms on RHS from Arjunda Police Station towards Rajnandgaon on SH 23	Balod	Regular	115	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
866	Gunderdehi Dhamtari Road Between Mile Stone Number 37 To 41 On SH	Balod	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
867	At village Barhitola on LHS on SH 5 towards Khairagarh	Rajnandgaon	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
868	Village Kannewada On Balod Dhamtari Road on NH 930 (Balod Dhamtari Road)	Balod	Regular	170	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
869	Village Karhibadar On NH 930 (Balod Dhamtari Road)	Balod	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
870	Between Mile Stone Number 86 And 88 On NH 30(Raipur Jagdalpur Road)	Balod	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
871	At village Gurur towards Dhamtari on RHS of on NH 930 (Balod Dhamtari Road)	Balod	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
872	At Village Limora on LHS towards Gunderdehi on SH 7	Balod	Regular	140	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
873	On LHS between Km stone 345 to 355 on NH53 (Mumbai Kolkata HIghway) while going to Raipur	Rajnandgaon	Regular	150	Open CC 2	DC	35	45	1575	25	75	Draw of Lots	15	5
874	At Tumdibod on NH 53(Raipur Nagpur Highway) on LHS towards Nagpur	Rajnandgaon	Regular	150	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
875	At village Devpura on SH 5	Rajnandgaon	Regular	100	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
876	Within 3 Kms from Ghordha Village Chowk Bus Stand towards Dongargaon on SH 24	Rajnandgaon	Regular	110	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
877	On NH53 (Mumbai Kolkata HIghway) between KM stone 332 to 335 On RHS while going to Nagpur	Rajnandgaon	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
878	Within 10 Km from Dongargarh Bus Stand on Khairagarh Dongargarh Road	Rajnandgaon	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4

879	On LHS between Km stone 385 to 387 On NH53 (Mumbai Kolkata Hlghway) while going to Nagpur	Rajnandgaon	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
880	On SH 24 between Km stone No 35 to 40 at village Kumarda	Rajnandgaon	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
881	Within 2 Kms on LHS from Mohala Bus Stand towards Manpur on SH 24	Rajnandgaon	Regular	130	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
882	Within 2 kms from Aklavya Govt. College on SH 5(Rajnandgaon Dallirajhara Road) towards Dalli Rajhara	Balod	Regular	100	ОВС	DC	35	35	1225	25	60	Draw of Lots	15	4
883	Between KM stone 388 to 392 at Manpur on SH 24	Rajnandgaon	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
884	Within 2 Km from Padav Chauraha on Durg Dallirajhara road towards Dalli Rajhara	Balod	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
885	On LHS between KM stone 389 to 391 on NH 53(Raipur Nagpur Highway) while going Nagpur	Rajnandgaon	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
886	On LHS at village Sadak Banjari while going from Raipur to Nagpur On NH 53(Raipur Nagpur Highway)	Rajnandgaon	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
887	Within 1 Km from Sundara Chowk on NH 53(Raipur Nagpur Highway)	Rajnandgaon	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
888	On RHS at Tappa on NH53 (Mumbai Kolkata HIghway) while going to Nagpur	Rajnandgaon	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
889	Within 3 KMs from Balod City Bus Stand within Municipal Limit	Balod	Regular	170	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
890	On RHS between Gadhula Naala to Gadhula Village on SH 24 towards Khairagarh	Rajnandgaon	Regular	110	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
891	On LHS Between Paneka Chowk and Pharhad Chowk towards Pharhad Chowk	Rajnandgaon	Regular	110	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
892	From Mile Stone 52 To 57 On Durg Balod Road on SH 7	Balod	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
893	At Village Navagaon on NH 930	Balod	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3

894	Between Basantpur Chowk and Paneka Chowk	Rajnandgaon	Regular	110	Open	DC	20	20	400	25	45	Draw of Lots	15	5
895	On LHS within 2 Km from Singhola Basti gate on SH 5 towards Dalli Rajhara	Rajnandgaon	Regular	110	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
896	At Village Miri Tola on NH 930 (Balod Dhamtari Road)	Balod	Regular	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
897	Village Gainji on SH 5(Rajnandgaon Dalii Rajhara Road)	Balod	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
898	On RHS within 1 Km from Hotel Raj Imperial Hv at Rajnandgaon on Rewadih Road	Rajnandgaon	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
899	On RHS within 3 Km from Mohla Bus Stand towards Manpur on SH 24(Chowki to Mohla Road)	Rajnandgaon	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
900	Within 2 KMs of SBI Bijapur Branch on NH 63	Bijapur	Regular	150	ОВС РН	DC	35	45	1575	25	75	Draw of Lots	15	4
901	At Village Bheja on NH 930 (Balod Dhamtari Road)	Balod	Regular	150	ST PH	CFS	35	45	1575	0	0	Draw of Lots	0	3
902	At Gadhula On SH 5(Rajnandgaon Khairagarh Road)	RAJNANDGAON	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
903	Between Bharda to kaparmeta on NH 930 (Balod Dhamtari Road)	BALOD	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
904	Within Municipal limit of Gunderdehi	Balod	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
905	At village Gurur towards Dhamtari on LHS of on NH 930 (Balod Dhamtari Road)	Balod	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
906	On RHS while going from Raipur towards Nagpur at Village: Uraidabri on NH 53(Raipur Nagpur Highway)	Rajnandgaon	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
907	Gandai To Chhuikhadan on SH 5	Rajnandgaon	Regular	120	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
908	Within 5Kms From Dhamtari Chowk to Balod on NH 30 (not in Dhamtari district)	Balod	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4

909	Within Municipal Limts Of Rajnandgaon	Rajnandgaon	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
910	Village Danitola on NH 930(Durg Dalli Rajhara Road)	Balod	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
911	On LHS between Km stones 367 to 369 towards Durg on NH 53(Raipur Nagpur Highway)	Rajnandgaon	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
912	At Gunderdehi On SH 7(Durg Dallirajhara road)	BALOD	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
913	Either side at village Banbhedi on NH53 (Mumbai Kolkata HIghway)	Rajnandgaon	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
914	At Tumdibod on NH 53 (Raipur Nagpur Highway) on RHS towards Nagpur	Rajnandgaon	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
915	On RHS within 5 Kms from bus Stop at village Somni On NH 53(Raipur Nagpur Highway) while going to Nagpur	Rajnandgaon	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
916	Within the Municipal Limits of Dongargarh	Rajnandgaon	Regular	110	Open	DC	20	20	400	25	45	Draw of Lots	15	5
917	Dalli Rajahara Within Municipal Limit	BALOD	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
918	Village Kachandur on SH 7	Balod	Regular	110	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
919	On NH 53(Raipur Nagpur Highway) Between mile stone 369 to 371	Rajnandgaon	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
920	Within 3 Km from Chuikhadan Jai stambh chowk on gandai Road	Rajnandgaon	Regular	110	Open	DC	20	20	400	25	45	Draw of Lots	15	5
921	Within Municipal Limts Of Balod	Balod	Regular	120	Open	DC	20	20	400	25	45	Draw of Lots	15	5
922	Village Rangitola at RHS on NH 53(Raipur Nagpur Highway) while going to Nagpur	Rajnandgaon	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
923	Within 3 Kms on either side of Post Office Tumdibod on NH 53	Rajnandgaon	Regular	150	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4

924	At Village Bangaon ON NH 930	Balod	Regular	150	SC CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
925	At Village Kurubhat on NH 930	Balod	Regular	150	Open PH	DC	35	45	1575	25	75	Draw of Lots	15	5
926	NH 30(Raipur Jagdalpur) between milestone 101 and 103	Balod	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
927	Within 3 Kms from Chhattishgarh Rajya Gramin Bank Amrikala branch on SH 7 towards Gunderdehi	Balod	Regular	110	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
928	Village Jhikatola on NH 930	Balod	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
929	Within 5 Km from Thelkadih Chowk towards Rajnandgaon on SH 5	Rajnandgaon	Regular	120	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
930	Within 3 Kms from junction of Rajnandgaon Dalli Rajhara road and Durg Dallirajhara road on NH 930(Durg Dallirajhara road) towards Durg	Balod	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
931	Between Km Stone 19 to 21 on SH 24 Rajnandgaon	Rajnandgaon	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
932	Within 1 Km from Manohra Naala towards Durg on Durg Balod Road	Balod	Regular	110	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
933	Village Khairkatta on NH 930	Balod	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
934	Village Arajkund on SH 24(Chowki to Mohla Road)	Rajnandgaon	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
935	Within 2 Kms from junction of Rajnandgaon Dalli Rajhara road and Durg Dallirajhara road on NH 930(Durg Dallirajhara road) towards Dalli rajhara	Balod	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
936	At Pathratola on NH 930	Balod	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
937	Within Municipal limit of Gurur	Balod	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
938	Within Municipal limit of Khairagarh	Rajnandgaon	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4

939	Within Municipal limit of Chhuriya	Rajnandgaon	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
940	Within Municipal limit of Chhuikhadan	Rajnandgaon	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
941	Within Municipal Limit of Gandai	Rajnandgaon	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
942	Within Municipal limit if Dongargaon	Rajnandgaon	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
943	Within Municaipal limit id Ambagarh Chowki	Rajnandgaon	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
944	Within Municipal limit of Doundi	Balod	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
945	Within Municipal limit of Chiklakasa	Balod	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
946	At Village Sankara On NH 930(Balod Dhamtari Road)	Balod	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
947	Within Municipal limit of DoundiLohara	Balod	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
948	Within Municipal limit of Arjunda	Balod	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
949	Within Municipal Limit of Dongargaon	Balod	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
950	Between Anupam Nagar Chowk and Mahamaya Hotel on BasanTpur Road	Rajnandgaon	Regular	130	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
951	2 Kms either side of Yuganatar Public School Rajnandhgaon	Rajnandgaon	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
952	Between Imam Chowk and Gurunanank chowk on NH 53(Raipur Nagpur Highway) at RHS while going to Raipur	RAJNANDGAON	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
953	Between Imam Chowk and Gurunanank chowk on NH 53(Raipur Nagpur Highway) at LHS while going to Raipur	Rajnandgaon	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5

954	Between KM Stone No 336 to 338 on NH 53 on RHS while going towards Nagpur from Rajnandgaon	Rajnandgaon	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
955	Within 2 kms either side of Town Hall Balod on NH 930	Balod	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
956	On RHS while going from Gariaband to Odisha between Milestone No. 102 To 106 on NH 130C (Abhanpur Gariabandh Deobhog Highway)	Gariyaband	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
957	Within 3 KM from the Junction of NH 30 and NH 130 C towards Rajim on NH 130C (Abhanpur Gariabandh Highway)	Raipur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
958	At village Saraipali on SH 19 (Tehsil Pithora)	Mahasamund	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
959	On RHS while going from Gariaband to Odisha between Milestone No. 96 To 100 on NH 130C (Abhanpur Gariabandh Deobhog Highway)	Gariyaband	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
960	On LHS while going from Gariaband to Odisha between Milestone No. 96 To 100 on NH 130C (Abhanpur Gariabandh Deobhog Highway)	Gariyaband	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
961	At Karkoti On Sh Road Surajpur To Bhaiyathan (Sh 12)	Surajpur	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
962	Within Bhanpuri within Raipur Municipality	Raipur	Regular	150	Open CC 1	DC	20	20	400	25	60	Draw of Lots	15	5
963	Within 2 km from police station basantpur towards banaras on wadrafnagar banaras road	Balrampur	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
964	Baramkela To Semikot on SH 13	Raigarh	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
965	Dansara on NH 153 (Sarangarh Raigarh road)	Raigarh	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
966	From Sarangarh towards Raigarh between milestone no 52 to 56 on NH 153 (Sarangarh Raigarh road)	Raigarh	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
967	Between KM stone from 12 to 17 on NH 343(Rajpur Lailunga Road)	Raigarh	Regular	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
968	Either Side Upto 2 Km From Vedanta Washery & Logistic Solution Kunkuni On NH 49 (new NH Shakti Kharsiya Raigarh Road)	Raigarh	Regular	154	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3

_														
969	Either Side From Aanganbadi Kendra Tenganapali Upto 5 Km On NH 153 (Raigarh Sarangarh Road)	Raigarh	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
970	Upto 2Kms On both side from village Chaple road junction on NH 49 (new NH on Raigarh Kharsiya road)	Raigarh	Regular	154	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
971	Barpali on NH 49 (Shakti Kharsiya Raigarh new NH road)	Raigarh	Regular	160	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
972	Sarangarh Bypass of NH 153 ((Sarangarh Raigarh road Bypass Road)	Raigarh	Regular	154	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
973	Within Ashok Vihar Colony within Raipur Municipality	Raipur	Regular	150	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
974	Between Gurunanak chowk and Barfani Aashram entrance gate on NH 53(Raipur Nagpur Highway)	Rajnandgaon	Regular	150	Open CC 2	DC	20	20	400	25	60	Draw of Lots	15	5
975	Within 2KMs from Canara Bank ATM (Sanjay Gandhi Chowk) on Baloda Bazar Raipur Road (NH 130B)	Balodabazar	Regular	150	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
976	Either Side Upto 3 Km From Kosamnar Dhanager Junction On NH 49 (new NH Kharsiya raigarh road)	Raigarh	Regular	160	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
977	From Geeta Ware House Bagindih Towards Sarangarh Upto 6 Km On NH 153 (Sarangarh Raigarh road)	Raigarh	Regular	160	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
978	Netnagar on NH 49 (Raigarh Jharsguda Road)	Raigarh	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
979	From Kabir Chwok To Sangitarai Bus Stand Raigarh	Raigarh	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
980	Within 1.5KM from Kabir Chowk Raigarh Towards Raigarh Main City within Raigarh Town	Raigarh	Regular	120	Open	DC	20	20	400	25	45	Draw of Lots	15	5
981	Village Jorapali on NH 49 (new NH on Raigarh Kharsiya road)	Raigarh	Regular	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
982	Either Side Upto 3 Km From Sarswati School Tilagi On NH 153 (Raigarh Sarangarh Road)	Raigarh	Regular	174	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
983	Either Side Upto 1 Km From Aganbadi Kendra Churela On Sarangarh Sarsiwan Road NH 130B	Raigarh	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5

984	Kharsia New Bypass On NH 49 (Bilaspur To Raigarh Highway)	Raigarh	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
985	Within 4 Km from Gharghoda main Chowk towards Lailunga on Gharghoda Lailunga Road	Raigarh	Regular	100	ОВС	DC	35	35	1225	25	60	Draw of Lots	15	4
986	Within 2 km from FCI Godown chathirma towards wadrafnagar on Ambikapur banaras road	Surguja	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
987	From Charkhapara Towards Dharamjaigarh Upto 6 Km On SH 1	Raigarh	Regular	110	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
988	Within 4 KM from Monnet Main Gate towards Kharsiya on Old NH 200 (Raigarh Kharsiya Road)	Raigarh	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
989	Within 3 Km From Patelpali Bus Stop On NH 153 Toward Kondatarai (Sarngarh Raigarh road)	Raigarh	Regular	155	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
990	Either Side Upto 2 Km From Jindal Toll Bhalumar On SH 1	Raigarh	Regular	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
991	From Govt Primary School Kargipali Towards Sarangarh Upto 4 Km On NH 153 (Raigarh Sarngarh Road)	Raigarh	Regular	160	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
992	At Village Parsada (Raigarh Kharsiya Road)	Raigarh	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
993	From Siddheshwar Nath Mandir Bargarh Towards Kharsia Upto 4 Km On NH 49 (Shakti Kharsiya Raigarh new NH road)	Raigarh	Regular	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
994	Between Larang Sai Chowk towards Godarmana within Chhatisgarh State on NH 343	BAlrampur	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
995	Upto 3Kms from Chhattisgarh Gramin Bank Gerwani towards Raigarh on SH 1 (Raigarh Ambikapur Road)	Raigarh	Regular	120	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
996	Between Dhimrapur Chowk to Kotra road railway crossing Raigarh	Raigarh	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
997	Within 2Kms from M/S S B Shailek Industry Towards Jharsugada On NH 49 Tahsil Pussur	Raigarh	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
998	At Lalmati On NH 43(Katni ghumla road)	Surguja	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5

999	Either Side Upto 2 Km From Govt High School Kosamghat On Gharghoda Dharmjaigarh Road (SH 1)	Raigarh	Regular	100	ST PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
1000	From Jagdamba Water Park Towards Sarangarh Upto 4 Km On NH 153 (Raigarh Sarngarh Road)	Raigarh	Regular	150	ОВС РН	DC	35	45	1575	25	75	Draw of Lots	15	4
1001	Within 3 km from Jai Stambh chowk Kunkuri on SH (kunkuri tapkara road)	Jashpur	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1002	Either Side From village Terrum Upto 2 Km On SH 1	Raigarh	Regular	130	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1003	Either Side Upto 3 Km From Kashichua Chowk On old NH 200 (Raigarh Kharsiya old NH road)	Raigarh	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1004	At village Odia on NH 30 (Simga Bemetara Kawardha Highway)	Bemetara	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
1005	From Gaddi Chauk To Raigarh Palace on Palace Road Raigarh	Raigarh	Regular	200	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1006	At vilage Dumarmuda (Raigarh Jharsguda Road) on NH 49	Raigarh	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1007	From Govt Primary School Suwatal Towards Chhote Hardi Upto 2 Km On NH 153	Raigarh	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1008	At Village Segona on NH 30 (Simga Bemetara Kawardha Highway)	Bemetara	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1009	Between Km Stone no 82 and 84 on Ambikapur Banaras road	Balrampur	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1010	Between Km Stone no 74 and 76 on Ambikapur Banaras road	Surajpur	Regular	100	Open	СС	35	35	1225	25	10	Bidding	30	5
1011	At Village Risda On Baloda Bazar Bypass Between The Two junctions (Bypass With Baloda Bazar Suhela Road & Bypass With Baloda Bazar Raipur Road)	Balodabazar	Regular	160	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1012	Between Kadar Toll Plaza and Silpahri Village within Raigarh Industrial Area	Raigarh	Regular	160	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
1013	At Village Jeora on NH 30 (Simga Bemetara Kawardha Highway)	Bemetara	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3

1014	At Village Madanpur on NH 130 A (Bilaspur Mungeli Highway)	Bilaspur	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
1015	Within 1KM from Setganga Police Station towards Mungeli on NH 130 A (Bilaspur Mungeli Highway)	Bilaspur	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1016	At Village Sakari On Baloda Bazar Bypass Between The Two Intersections; Bypass With Baloda Bazar Raipur Road & Bypass With Baloda Bazar Lawan Road.	Balodabazar	Regular	160	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1017	Within 1 KM on either side of Jila Sahkari Kendriya Bank Maryadit Mahli on NH 130A (Bilaspur Mungeli Highway)	Mungeli	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
1018	At village Rawan On Baloda Bazar Bhatapara Road On SH 10	Balodabazar	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1019	At Vilage Kuwa Khurd on NH 130 A (Bilaspur Mungeli Highway)	Mungeli	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1020	Within 1KM on either side of Shree Cement plant on SH (On Baloda Bazar Suhela road).	Balodabazar	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1021	Village Koliha On Nandghat Bhatapara Road on NH 130B	Balodabazar	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1022	Between KM Stone No 534 to 537 on RHS from Kunkuri towards Jashpur on NH 43	Jashpur	Regular	150	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
1023	At village Sirsida NH 30 (Vijayawada Jagdalpur Raipur Highway)	Kanker	Regular	150	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
1024	Village Jamgahan On Bhatgaon Gidhauri Road on NH 130B	Balodabazar	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1025	At Village Lakhanpuri on NH 30 (Vijayawada Jagdalpur Raipur Highway)	Kanker	Regular	150	Open PH	DC	35	45	1575	25	75	Draw of Lots	15	5
1026	At village Telgara on NH 30 (Vijayawada Jagdalpur Raipur Highway)	Kanker	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
1027	At Village Nawagaon on NH 30 (Vijayawada Jagdalpur Raipur Highway)	Kanker	Regular	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
1028	At village Temri on NH 130 (Raipur Bilaspur Road)	Bemetara	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5

1029	At Village Khargaon on NH 130 D (Kondagaon Narayanpur Highway)	Narayanpur	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1030	At village Timnar on NH 130 D (Kondagaon Narayanpur Highway)	Narayanpur	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1031	On LHS Between Km. Stone No. 311 to 313 on Bemetara Simga Road (NH 30)	Bemetara	Regular	155	Open	СС	35	45	1575	25	10	Bidding	30	5
1032	Village Dhuma On NH 49 (Pendridih Masturi Road)	Bilaspur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1033	On RHS from Agrasen Polytechnic College Dangania towards Balod within 1KM from Agrasen Polytechnic College Dangania on SH 7 (Durg Gunderdihi Road)	Balod	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1034	At village on Naumunjmeta on NH 130 D (Kondagaon Narayanpur Highway)	Narayanpur	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1035	At village Baniyagoan on NH 30 (Vijayawada Jagdalpur Raipur Highway)	Kondagaon	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
1036	Within 4 kms from SBI Charama Branch towards Jagdalpur on NH 30 (Vijayawada Jagdalpur Raipur Highway)	Kanker	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1037	At vilage Darbha on NH 30 (Vijayawada Jagdalpur Raipur Highway)	Sukma	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
1038	At village Rokel on NH 30 (Vijayawada Jagdalpur Raipur Highway)	Sukma	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1039	At village Keratong on NH 30 (Vijayawada Jagdalpur Raipur Highway)	Sukma	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1040	On RHS from Kawardha to Raipur on Kawardha Raipur Road within Municipal Limit	Kawardha	Regular	110	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1041	At village Bakulghat	Sukma	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1042	Kawardha Within Municipal Limit On Kawardha Sahaspur Lohara Road.	Kawardha	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1043	Village Kukdur On Pandaria Lormi Road	Kawardha	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5

	-													
1044	At Village Gudeli on NH 153 or NH 49 (Raigarh Sarangarh Highway)	Raigarh	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1045	Between Milestone No 46 to 49 on Ambikapur Banaras Road	Surajpur	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1046	Village Joratal On Kawardha Pondi Road	Kawardha	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1047	Within 3Km From Pondi Chowk Towards Pandari On NH 130A.	Kawardha	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1048	At Village Jora on NH 30 (Vijayawada Jagdalpur Raipur Highway)	Raipur	Regular	155	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
1049	At Village Betar on NH 30	Bemetara	Regular	155	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1050	On LHS from Simga towards Bemetara between KM stone no 305 to 309	Bemetara	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1051	At Village Raka on RHS while going from Simga towards Bemetara on NH 30	Bemetara	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1052	Within 3KMs from Hemu Kalyani Square towards Hamirpur Road within Raigarh Town	Raigarh	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1053	Within Ekta Nagar within Raipur Municipality	Raipur	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
1054	Within 2KMs on LHS from Shasakiya Prathmik shala at Dhabadih towards Suhela on Risda Suhela Road	Balodabazar	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1055	On RHS within 1KM from Tatijharia chowk towards Samri on SH 12	Balrampur	Regular	100	Open	СС	35	35	1225	25	10	Bidding	30	5
1056	At Village Lidri on NH 130 A (Bilaspur Mungeli Highway)	Bilaspur	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1057	Within 2 KMs from Koni Police Station on NH 130 (Raipur Bilaspur Highway)	Bilaspur	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
1058	Within 2KM from Gram Panchayat Bhavan at Pakargaon towards Pathalgaon	Jashpur	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5

1059	Between Dhaneli and Nimora 2 on New expressway within Raipur Municipal Limit	Raipur	Regular	160	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1060	Khamatarai to Mowa within Raipur Municipality	Raipur	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
1061	Within Municipal limit of Ambikapur on NH	Surguja	Regular	150	Open	СС	20	20	400	25	10	Bidding	30	5
1062	Upto 1 Km on RHS from Dharamjaygarh towards Hatti Road On Dharamjaigarh Hatti Road	Raigarh	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
1063	On RHS while going from Nandghat to Bilaspur at Chicholi on NH 130 (Raipur to Bilaspur Highway)	Bemetara	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1064	On RHS from Dotopar to Lawan between KM Stone No 51 to 53 on NH 130B	Balodabazar	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
1065	Between Km Stone No 49 and 51 on SH 17 (Bagicha Jashpur Highway)	Jashpur	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1066	Within 1 Kms on LHS from Arjunda Police Station towards Balod on SH 23	Rajnandgaon	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1067	On NH 53 (Mumbai Kolkata HIghway) between KM stone 335 to 338 On LHS while going to Nagpur	Rajnandgaon	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1068	On Kota Road between Ramnagar Hat Bazar to Swami Vivekanand Stadium within Raipur Municipality	Raipur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1069	Bilaspur Within Municipal Limit at Ward No.66 (Tripur Surndari Ward)	Bilaspur	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1070	At Village Dhanpunji on NH 63 (Jagdalpur Koraput (Odisha) Highway)	Bastar	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
1071	Within 5Kms From Indian Overseas Bank Chikhalkutti towards Jagdalpur on NH 30 (Vijawada Jagdalpur Raipur Highway)	Kondagaon	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1072	Within 9 Kms from Palari Mandir Kondagaon towards Amravati Forest Range Tehsil Kondagaon	Kondagaon	Regular	150	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1073	From Junction (SH 4 and New Bus stand road) towards Pandripani New Bus Stand Road Tehsil Pharsabahar	Jashpur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4

1074	Within Village limit of Ogdi Tehsil odgi	Surajpur	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1075	At village Mohda Tehsil Kasdol	Balodabazar	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1076	Within 3 Kms from Datima Chowk On Datima Latori Ambikapur Road Towards Latori Tehsil Surajpur	Surajpur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1077	Within 2 Kms from Darima Airport junction on Mainpat Darima Ambikapur Road towards Ambikapur Tehsil Ambikapur	Surguja	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1078	Within 5 Km From Jarhi Bus Stand Chowk On Jarhi Bhatgaon Road Tehsil Pratappur	Surajpur	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1079	Within One Km from Gidhori on Gidhouri Madwa Road Tehsil Kasdol	Balodabazar	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1080	Between Makro Chowk To Kodaura Chowk on Chalgali Road Tehsil Balrampur	Balrampur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1081	With 1 Km From Pakni Chowk Towadrs Anrokha on Pakni Anrokha Road Tehsil Odgi	Surajpur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1082	At village Kalapara on Ambikapur Sadbar Road to Shrinagar Baikunthpur Road Tehsil Surguja	Surguja	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1083	Village Kanchanpur On baikunthpur Main Road Tehsil Baikunthpur	Koria	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1084	At Girodpuri Dham Tehsil Kasdol	Balodabazar	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1085	Village Ghugra Tehsil Sonhat	Koria	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1086	At village Uparpodi Tehsil Lundra	Surguja	Rural	46	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
1087	Village Navgai Tehsil Odgi	Surajpur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1088	Village Khongapani Tehsil Manedragarh	Koria	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2

1089	At Raghunath nagar village between Swaruchi Dhaba and Electrical Transformer while going towards wadrafnagar Tehsil Wadrafnagar	Balrampur	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1090	Within 5 Kms from Karma Temple(Buddist Temple) On Ambikapur Mainpath Road Tehsil Mainpath	Surguja	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1091	Within 4KMs from Selud Chowk on Selud Dhamtari Road towards Dhamtari Tehsil Patan	Durg	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1092	Village Motipur On Gadadih Raipur Road Tehsil Patan	Durg	Rural	72	sc	CFS	20	20	400	0	0	Draw of Lots	0	2
1093	Village Marra On Godadih Raipur Road Tehsil Patan	Durg	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1094	Village Pauwara On Janjgiri Road Tehsil Durg	Durg	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1095	Village Aundhi Tehsil Patan	Durg	Rural	46	Open CC 2	DC	20	20	400	12	30	Draw of Lots	5	4
1096	Village Khapli on Utai Machandur Road Tehsil Durg	Durg	Rural	46	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
1097	Village Mahmara On Jalbandha Road Tehsil Durg	Durg	Rural	72	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
1098	Village Hanoda on Resali Hanoda Road Tehsil Durg	Durg	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1099	Village Borai Between Post Office Borai And Jawahar Navodaya Vidyalaya Tehsil Durg	Durg	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1100	Village Risama on Durg Anda Road Tehsil Durg	Durg	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1101	Village Murmunda 1 Km On Either Side Of Murmunda Chowk On Khedamara Malpuri Road Tehsil Dhamdha	Durg	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1102	Village Machandur Chirpoli Machandur Road Tehsil Durg	Durg	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1103	Village Pendritarai On Ahiwara Berla Road Tehsil Dhamdha	Durg	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4

1104	Village Bagdumar on Jamul Nandini Road Tehsil Dhamdha	Durg	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1105	Village Albaras On Bharda To Nikumb Road Tehsil Durg	Durg	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1106	At Village Korja Under Pendra Road (Gaurella) Tahsil	Bilaspur	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1107	Between Ashok Nagar Chowk To Pt Sundar Lal University Under Belaspur Tahsil	Bilaspur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1108	At Village Bhathari Under Tahsil Takhatpur	Bilaspur	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1109	At Village Padarbhatta Under Mungeli Tahsil	Mungeli	Rural	46	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
1110	Village Dari Under Tahsil Pendra Road	Bilaspur	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1111	Village Amora Under Tahsil Pathriya	Mungeli	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1112	At Birkona On Koni Birkona Bypass From Hanuman Mandir To D.P. Vipra University Tehsil Bilaspur	Bilaspur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1113	At Village Nimgaha Under Bilaspur Tahsil	Bilaspur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1114	At Village Belgahna Under Kota Tahsil	Bilaspur	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1115	At Village Maladand Under Pendra Tahsil	Bilaspur	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1116	Within 1 Km on RHS From Indian Overseas Bank, Hirri Branch towards Bilha Under Bilha Tahsil	Bilaspur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1117	Daukapara To Pathriya Under Pathriya Tahsil	Mungeli	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1118	Village Siltara Under Takhatpur Tahsil	Bilaspur	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3

1119	At Village Jhiriya Under Lormi Tahsil	Mungeli	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1120	Lormi Not On State Highway Under Lormi Tahsil	Mungeli	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1121	At Village Piparkhurti Tahsil Lormi	Mungeli	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1122	At Village Lagra Under Tahsil Lormi	Mungeli	Rural	46	OBC PH	DC	20	20	400	12	30	Draw of Lots	5	3
1123	At Village Hardi Under Tahsil Lormi	Mungeli	Rural	72	ST PH	CFS	20	20	400	0	0	Draw of Lots	0	2
1124	At Village Khudiya Under Lormi Tahsil	Mungeli	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1125	At Village Belmundi Under Takhatpur Tahsil	Bilaspur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1126	At Village Vijaypur Under Bilaspur Tahsil	Bilaspur	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1127	Between Bartori Village To Amaldih Village Under Bilha Tahsil	Bilaspur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1128	At Village Bitkuli Under Tahsil Bilha	Bilaspur	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1129	At Village Khongsara Under Kota Tahsil	Bilaspur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1130	Village Khapri Under Pathriya Tahsil	Mungeli	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1131	At Village Amaldiha Under Bilha Tahsil	Bilaspur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1132	At Village Karankapa Under Lormi Tahsil	Mungeli	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1133	At Village Lakhasar Under Takhatpur Tahsil	Bilaspur	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3

1134	Within 2Kms From Narayanpur Chowk Towards Maro Road In Village Chandkhuri (Not On NH) Under Pathriya Tahsil	Mungeli	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1135	At Villag Dhanouli Under Pendra Road Tahsil	Bilaspur	Rural	46	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
1136	Within 3kms from Bardev Baba Mandir at Nawagoan on Rajim Megha Nagri Road in Kurud Tehsil	Dhamtari	Rural	46	ОВС	DC	20	20	400	12	30	Draw of Lots	5	3
1137	Within 2KMs from Shankhini River Bridge towards Purantarai Tehsil Dantewada	Dantewada	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1138	At Vilage Kanakot within 1.5 KMs from Karma Mandir on Sirri Road Tehsil Patan	Durg	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1139	On LHS within 2Kms from Allahbad bank at Niyanar towards Sargipal Tehsil Jagdalpur	Bastar	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1140	On LHS Within 1 KM from Prathmik swasthya Kendra at Belargoan towards birgudi while going Nawagoan Tehsil Nagri	Dhamtari	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1141	From Chhapka Mandir to Kesharpal Tehsil Jagdalpur	Bastar	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1142	Between KM stone no 7 to 9 on Borsi Dhanora Purai Utai Road Tehsil Durg	Durg	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1143	Within 1 Kms From Aasna Park Jagdalpur (not on Highway) Tehsil Jagdalpur	Bastar	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1144	Within 3 Kms from Chhatisgarh rajya Gramin bank mardapal towards khodsanar Tehsil Kondagaon	Kondagaon	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1145	At Village Bhatha Under Lormi Tahsil	Mungeli	Rural	46	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
1146	At Village Chirhula Under Mungeli Tahsil	Mungeli	Rural	72	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
1147	At Temragoan Tehsil Narayanpur	Narayanpur	Rural	46	Open PH	DC	20	20	400	12	30	Draw of Lots	5	4
1148	At Pandripani Tehsil Jagdalpur	Bastar	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3

1149	Within 1Km from Awari Chowk Towards NH 30 Tehsil Charama	Kanker	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1150	At village Tadokee Tehsil Antagarh	Kanker	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1151	within 1 km at and from village Mahka Tehsil Narayanpur	Narayanpur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1152	At Pharaswani Tehsil kurud	Dhamtari	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1153	Between gokulpur chowk and village Rudri on Gangrel Dam Road Tehsil Dhamtari	Dhamtari	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1154	Within 2 kms from Bamhani Mandir towards Kondagaon (Not on NH 30) Kondagaon Tehsil Kondagaon	Kondagaon	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1155	At village Hathi Darha Tehsil Dantewada	Dantewada	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1156	at village Bamhneen Bharri Tehsil Nagri	Dhamtari	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1157	At village Maurikalan Tehsil kurud	Dhamtari	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1158	At village Savatpur Tehsil Lormi	Mungeli	Rural	46	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
1159	On Sheorinarayan Bypass Tehsil Sheorinarayan	Janjgir	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1160	Within 3kms from Dena Bank at Korra Tehsil Kurud	Dhamtari	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1161	1 Kms from Madpal Higher Secondary School towards Nagarnar Tehsil Jagdalpur	Bastar	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1162	Village Pendrawand Tehsil Bade Rajur	Kondagaon	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1163	Within 5 kms from Narayanpur collector office towards Telsi on collector Road (not in Municipal Limit) Tehsil Narayanpur	Narayanpur	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3

								1				1	ı	
1164	At village koyalibeda on Antagarh koyalibeda Road Tehsil PakhanJore	Kanker	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1165	Within 1 kms from SH 6 towards Birgudi (Not on SH) Tehsil Nagri	Dhamtari	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1166	Within 3 kms from Atal Chowk at Halwa Tehsil Charama	Kanker	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1167	Between Chainpur and Navapara on Rampur Korba road (Tehsil Kartala)	Korba	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1168	Within 2 km from BPC outlet at Korkoma on Korkoma Batati road (Tehsil Korba)	Korba	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1169	Within 1Km from Mahavir Coal Washery towards Baloda Tehsil Baloda	Janjgir	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1170	At Village Madanpur on Madawa Baijalpur Road Tehsil Baloda	Janjgir	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1171	At Village Mudpar Tehsil Pamgarh	Janjgir	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1172	At Village Dhurkot On Janjgir Kera Road Tehsil Navagarh	Janjgir	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1173	At Village Korbi on connecting road of Baloda Hardi Bazaar and NH 130A Tehsil Baloda	Janjgir	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1174	Within 0.5 KMs from Government Higher Secondary School Kachanda Towards Jaijaipur On Jaijaipur Malkharoda Road on LHS at Village Kachanda Tehsil Jaijaipur	Janjgir	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1175	At village Korbi on chotiya chirmiri road (Tehsil Podi Uproda)	Korba	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1176	Within 0.5 KM from Swapnil Fly Ash Bricks towards Kachanda on LHS at Village Pihrid Tehsil Malkharoda	Janjgir	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1177	At Village Baijalpur On Baloda Janjgir Road Tehsil Baloda	Janjgir	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1178	Within 1 Km From Mission Chowk Malkharoda on Jaijaipur Malkharoda Road on RHS towards Jaijaipur Tehsil Malkharoda	Janjgir	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3

			I	l	I	1								
1179	At Village Dhekunabhatha On Raigarh Kharsia Sakti Road Tehsil Dabhara	Janjgir	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1180	Dhurkot on Raigarh Kharsia Shakti Road Tehsil Dabhara	Janjgir	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1181	At Village Girgira on Dhurkot Madawa Marg (Tehsil Dabhara)	Janjgir	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1182	On RHS within 0.5 KM from Bhurkadih Bus Stop Passenger waiting room towards Bardwar (Tehsil Champa)	Janjgir	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1183	At Village Pahariya On Baloda Janjgir Road Tehsil Baloda	Janjgir	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1184	At village Jawalpur on Baloda Janjgir Road Tehsil Baloda	Janjgir	Rural	46	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
1185	Within 2 Km from Chandipahad Chowk at Village Govaband Towards Champa (Tehsil Baloda)	Janjgir	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1186	At Village Bulsidih on Pip road (Tehsil Korba)	Korba	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1187	At village Sarai Sringar towards Baloda (Janjgir Champa) Tehsil Katghora	Korba	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1188	At Village Birda on Gevra Pantora Road Tehsil Katghora	Korba	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1189	Within 2 km from Bandhan Bank Sarkhon on Sarkhon Orai kalan road Tehsil Janjgir	Janjgir	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1190	Within 4 Km From Janjgir Kera Road At Khairtal Towards Sheorinarayan Tehsil Navagarh	Janjgir	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1191	Within 4Kms from the Junction of SH 9 and Bamnidih Saragaon Road towards Saragaon Tehsil Champa	Janjgir	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1192	At village Pondi dalha on akaltara changori road (Tehsil Akaltara)	Janjgir	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1193	At Village chuhiya on devpahari road Tehsil Korba	Korba	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3

								1				1	ı	
1194	Pokhara Borsi Road Village Basin Tehsil Rajim (not on NH or SH)	Gariyaband	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1195	Village : Nara Tehsil: Arang	Raipur	Rural	72	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
1196	Village Arand on Parsada Kirwai Road Tehsil Rajim	Gariyaband	Rural	46	Open CC 2	DC	20	20	400	12	30	Draw of Lots	5	4
1197	Village Sarakhi Tehsil Abhanpur	Raipur	Rural	46	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
1198	At Kosrangi (not on NH or SH) Tehsil Arang	Raipur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1199	At village Sinapali on connecting road sinapali to Ghumar Guda Tehsil: Deobhog	Gariyaband	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1200	At village Jhargaon Tehsil Mainpur	Gariyaband	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1201	Village Latapara Tehsil Deobhog	Gariyaband	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1202	At Deobhog Tehsil Deobhog on Hazaribagh Marg (not on NH or SH)	Gariyaband	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1203	Within 3 Kms From NH 53 junction and Rudha PMGSY Road towards Raksha on PMGSY Road (Not on NH) tehsil Saraipali	Mahasamund	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1204	From village Urmal Within 2 Km From Urmal Post Office(Not on NH or SH) Tehsil Mainpur	Gariyaband	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1205	At Bansula Tehsil Basna	Mahasamund	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1206	At village Chherikhedi (not on NH) Tehsil Raipur	Raipur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1207	Within 2 Kms from Rajiv Lochan Multispeciality Hospital at Tarri Road Tehsil Abhanpur	Raipur	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1208	At village Bemcha On Tumgaon Road Tehsil Mahasamund	Mahasamund	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2

_														
1209	Within 3KM from Post office Champaran Tehsil Abhanpur	Mahasamund	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1210	Village Kaundkera on Pokhara Borsi Kopra Road Tehsil Rajim	Gariyaband	Rural	46	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
1211	Village Bandabri Tehsil Basna	Mahasamund	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1212	Within 2 Kms on either side of Central Bank of India Baloda. Tehsil: Saraipali	Mahasamund	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1213	Within 4 Km Of Dena Bank Nawpara On Ganj Road Tehsil Abhanpur	Raipur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1214	At village Dhaurabhata Tehsil Tamnar	Raigarh	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1215	Within 2KM From Govt School Bonda On Saria Road Tehsil Pussore	Raigarh	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1216	Village Amapali (Between Anandam Nilayam Ashram To Aamapali Govt School On Raigarh Orda Road) Tehsil Raipur	Raigarh	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1217	From Village Hamirpur upto 2Kms towards Dhaurabhata on Hamirpur Tamnar Road. Tehsil Gharghoda	Raigarh	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1218	From Village Nandeli Towards Chhaple Upto 2Km tehsil Raigarh	Raigarh	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1219	From Govt College Gharghoda Towards Tamnar Upto 3 Km On Ghraghoda Tamnar Road Tehsil Gharghoda	Raigarh	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1220	Either Side Upto 3 Km From Kosa Utpadan Kendra Toran On Saria Baremkela Road Tehsil Baramkela	Raigarh	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1221	From Village: Katangpali Chowk towards village; Bonda upto 2KMs Tehsil Baramkela	Raigarh	Rural	72	ST PH	CFS	20	20	400	0	0	Draw of Lots	0	2
1222	From Tehsil Office Pussore Towards Kodatari Upto 3 Km On Kodatarai Pusour Road	Raigarh	Rural	46	OBC PH	DC	20	20	400	12	30	Draw of Lots	5	3
1223	At Village Katangdih Tehsil Gharghopda	Raigarh	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4

1224	From Kodatarai Chowk Towards Pussore Upto 2 Km On Kodatarai Pusour Road (Not On NH 153) Tehsil Raigarh	Raigarh	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1225	From Kolam Primary School Towards Barkaspali Upto 2 Km Tehsil Tamnar	Raigarh	Rural	46	ОВС	DC	20	20	400	12	30	Draw of Lots	5	3
1226	From Urdana Chowk Towards Village Krishnapur Upto 1 Km Tehsil Raigarh	Raigarh	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1227	From Rajpur Bus Stand Towards Raigarh Upto 1 Km On Lailunga Gharghoda Raigarh Road Tehsil Lailunga	Raigarh	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1228	From Govt College Gharghoda Towards Jhariyapali Upto 3Km On Ghardhoda Jhariyapali tehsil Gharghoda	Raigarh	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1229	Between Govt School Gare And Op Jindal School Kunjemuda Tehsil Tamnar	Raigarh	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1230	Village: Barod (Near Colliery) Tehsil Bargarh	Raigarh	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1231	Padigaon Tehsil Raigarh	Raigarh	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1232	Milupara Tehsil Gharghoda	Raigarh	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1233	Sarangarh Upto 4 Kilometer On Jaspur Marg Tehsil Raigarh (not on Highway)	Raigarh	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1234	Kharsia On Adbhar Sipea Road (Within One Km From Hemu Colony Chowk) Tehsil Raigarh	Raigarh	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1235	At Nawapara Bade Tehsil Raigarh	Raigarh	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1236	At village BEMTA Tehsil Tilda	Raipur	Rural	46	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
1237	Village Khudmudi Tehsil Berla	Bemetara	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1238	Within 1Km from Banrasi on Banrasi Mana Road Tehsil Raipur	Raipur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4

1239	Village Dhaneli 2 KM both side from Guru Ghasidas Mandir Tehsil Abhanpur	Raipur	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1240	Village Mungi (Mandir Hasaud Chowk To Chandrakhuri Chowk) Tehsil Arang	Raipur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1241	At Village Neora in Tilda Tehsil Tilda	Raipur	Rural	46	ОВС	DC	20	20	400	12	30	Draw of Lots	5	3
1242	At village Temri from BJP Office to 22 Batalion Main gate Tehsil Raipur	Raipur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1243	At Village Bhurkoni between Vycon school and Mandhar factory Tehsil Raipur	Raipur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1244	KM from Vidhan Sabha Over Bridge on Mandir Hasaud Dhaneli Road Tehsil Arang	Raipur	Rural	72	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
1245	At Charoda on Dharsiwa to Sakri Tarra Road Tehsil Dharsiwa	Raipur	Rural	46	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
1246	At village Chhachhanpairi on old Dhamtari road Tehsil Abhanpur	Raipur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1247	At vilage Tekari on old Dhamtari road Tehsil Abhanpur	Raipur	Rural	46	Open PH	DC	20	20	400	12	30	Draw of Lots	5	4
1248	At village Dumartarai Tehsil Raipur	Raipur	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1249	Village Baktra on Godi road within 2 KM from MM Fun city on both side of road Tehsil Arang	Raipur	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1250	Within 3 KMs from junction of MANA on NH 30 towards Boriyakala (not on NH 30) Tehsil Raipur	Raipur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1251	At village Pandritarai Tehsil Rajim	Raipur	Rural	46	ОВС	DC	20	20	400	12	30	Draw of Lots	5	3
1252	At Village Nardaha on Nardaha Road Tehsil Arang	Raipur	Rural	72	sc	CFS	20	20	400	0	0	Draw of Lots	0	2
1253	At Village Gopalpur (not on Highway) Tehsil Korba	Korba	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4

1254	At village Ganod Tehsil Arang	Raipur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1255	At village Kendri within 3 km from NH30 towards BIT Raipur Tehsil Abhanpur	Raipur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1256	At Village Tulsi in Tilda Tehsil Tilda	Raipur	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1257	Village Gogaon on Gogaon main road Tehsil Raipur	Raipur	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1258	At village Julum Tehsil Abhanpur	Raipur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1259	At village Tilda Newra Tehsil Tilda	Raipur	Rural	46	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
1260	At Village Acholi Between urla sub station to IDBI bank Urla on Urla road Tehsil Raipur	Raipur	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1261	At village Darba Tehsil Arang	Raipur	Rural	72	sc	CFS	20	20	400	0	0	Draw of Lots	0	2
1262	Village Ghughwa Tehsil Patan	Durg	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1263	Village Manikpur (On Borla Mohgaon Road) Tehsil Borla	Kawardha	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1264	On LHS within 2Kms from Sheetla Mandir Chowk towards Datrenga (Tehsil Raipur)	Raipur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1265	Bilaigarh On Bilaigarh Pauni Road (Tehsil Bilaigarh)	Balodabazar	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1266	Village Hemaband on Khandasara Darhi Road Tehsil Bemetara	Bemetara	Rural	72	sc	CFS	20	20	400	0	0	Draw of Lots	0	2
1267	At village Putpura on Kasdol Sirpur Road Tehsil Kasdol	Balodabazar	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1268	At village Lawan on Lavan Rohansi Road (NOT ON NH) Tehsil Lavan	Balodabazar	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4

						1		1				I		
1269	At village Saklor under Tehsil Simga	Balodabazar	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1270	At village Khartora On Khartora Watgan Road(NOT ON NH) Tehsil Palari	Balodabazar	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1271	At village Saliha Tehsil Bilaigarh	Balodabazar	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1272	Village Dadhi Tehsil Navagarh	Bemetara	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1273	At Village Kusumi on Berla Bemetara Road Tehsil Berla	Bemetara	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1274	Village Raweli On Raweli Talpur Road Tehsil Kawardha	Kawardha	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1275	At village Bamhani (Bilaigarh Road) Tehsil Bilaigarh	Balodabazar	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1276	Village Birendranagar (not on Highway) Tehsil Sahaspur Lohara	Kawardha	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1277	Village Baghamunda Tehsil Pandaria	Kawardha	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1278	Village Navagarh On Navagarh Chhirha Road under Tehsil Navagarh	Bemetara	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1279	Village Bilaspur Tehsil Bilaigarh	Balodabazar	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1280	Village Akola Tehsil Thankhamhariya (On Karesara Thankhamhariya Road)	Bemetara	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1281	Village Reve (on Berla Deorbija Road) Tehsil Berla	Bemetara	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1282	Village Khadauda Khurd (on Raweli Talpur Road) Tehsil Kawardha	Kawardha	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1283	At Village Lewai Singarpur Tehsil Bhatapara	Balodabazar	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4

1284	At Suhela on Suhela To Bhatapara Road Tehsil Bhatapara	Balodabazar	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1285	Village Bhimbhori (On Kusmi Siltara Road) Tehsil Berla	Bemetara	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1286	At Banjari Tehsil Borla	Kawardha	Rural	46	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
1287	At Jaroud on Khokhli Suhela Road Tehsil Simga	Balodabazar	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1288	Within 2 km from chotiya chowk towards chirmiri on chotiya chirmiri road Tehsil Podi Uproda	Korba	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1289	Village Mudiyapara On Borla Mohgaon Road (Not On Highway) Tehsil Borla	Kawardha	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1290	Village Kuthraud (between Ultratech cement plant to Suhela Road) Tehsil Simga	Balodabazar	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1291	Village Devari on Berla Bemetara road Tehsil Berla	Bemetara	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1292	On Bhatgaon Sambalpur Road at Village Khadgaon underTehsil Rajnandgaon	Rajnandgaon	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1293	Village Makodi Tahsil Mohla	Rajnandgaon	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1294	Arjunda to Balod road within 2 Kms towards Kurdi village from Dena bank Arjunda branch	Balod	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1295	Within 1 km from Mudia Mohara To Thelkadih Road Tahsil Dongargarh	Rajnandgaon	Rural	46	Open CC 2	DC	20	20	400	12	30	Draw of Lots	5	4
1296	Village Aroud Tahsil Gunderdehi	Balod	Rural	46	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
1297	Machanpar Tahsil Dongargaon	Rajnandgaon	Rural	72	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
1298	Within 2 Kms from Karmari Chowk Towards Dongargaon On Dongargaon Dewari Road under Tehsil Chhuriya	Rajnandgaon	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4

1299	Within Manpur Village Panchayat Limit Tehsil Mohla	Rajnandgaon	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1300	Village Mokha Tahsil Gunderdehi	Balod	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1301	Mohandipat Tahsil Gunderdehi	Balod	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1302	Village Litiya Tahsil Rajnandgaon	Rajnandgaon	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1303	Village Salhewara Tahsil Chhuikhadan	Rajnandgaon	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1304	Within 2Kms from Gunderdehi Jila Sahkari Bank towards Kalangpur on Dhamtari Road Tehsil Gunderdehi	Balod	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1305	Village Kusumkasa (not on Highway) Tahsil Dondi	Balod	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1306	Within 4 Km Of Sukuldaihan Square towards Dhangaon Not on SH Tahsil Rajnandgaon	Rajnandgaon	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1307	Musrakhurd (Urf Musra) Tahsil Dongargarh	Rajnandgaon	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1308	Khuteri On Lohara To Balod Road Tahsil Gunderdehi	Balod	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1309	At Village Haldi Tahsil Balod	Balod	Rural	46	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
1310	At Village Dudiya Tehsil Rajnandgaon	Rajnandgaon	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1311	Village Khujji tahsil Dongargaon	Rajnandgaon	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1312	Village Khapri On Dongargarh Rajnandgaon Road Tehsil Rajnandgaon	Rajnandgaon	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1313	Village Dhobedand on Manpur Mohla road Tehsil Mohla	Rajnandgaon	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4

1314	Village Telitola on Arjunda Bhandera Road Tahsil Daundilohara	Balod	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1315	Village Purur on Shantipur Road Tehsil Gurur	Balod	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1316	Within 2kms from Hanuman Mandir at Hasda (Not on Highway) Tehsil Magarload	Dhamtari	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1317	At village biragoan Tehsil Bhnupratappur	Kanker	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1318	Within 3 Kms either side SBI Kiosk (Grahak Seva Kendra) at Badekanera towards Amravati Reserve Forest Tehsil Kondagaon	Kondagaon	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1319	At Village Puttarwahi Tehsil Bhanupratappur	Kanker	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1320	Between mile stone 7 to 9 at village Dhelwadih on Katghora bypass Tehsil Katghora	Korba	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1321	Between Dumarkachhar and Nunera on Dipika Pali road on LHS going towards dipika Tehsil Katghora	Korba	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1322	At Village Bondara on pota Adbhar road Tehsil Dabhara	Janjgir	Rural	46	ОВС РН	DC	20	20	400	12	30	Draw of Lots	5	3
1323	At village Pendry between Dhurkot & Pendry On Janjgir Kera Road Tehsil Navagarh	Janjgir	Rural	72	ST PH	CFS	20	20	400	0	0	Draw of Lots	0	2
1324	At Village Akharapali on Bilaspur Korba road Tehsil Katghora	Korba	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1325	Within 2 Km From Pamgarh on NH 49 Jn Towards Khokhra Tehsil Pamgarh	Janjgir	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1326	Kotetara on Baradwar Jaijaipur road Tehsil Jaijaipur	Janjgir	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1327	Within 5 Kms from the Junction of new By pass of NH 49 and Pamgarh Khokhra Road on Pamgarh Khokhra Road Tehsil Janjgir or Navagarh	Janjgir	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1328	Village Dhurkot Within 2 Km From Gram Panchayat Bhawan Dhurkot towards Kenapali Tehsil Dabhara	Janjgir	Rural	72	sc	CFS	20	20	400	0	0	Draw of Lots	0	2

1329	At Village Sendripali On Non Birra Sendripali Road (Tehsil Kartala)	Korba	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1330	Village Kalmi Tehsil Malkharoda	Janjgir	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1331	At Village Surahi Under Lormi Tahsil	Mungeli	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1332	Village Khodri (not on SH)	Bilaspur	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1333	At Villege Bindawal Under Lormi Tahsil	Mungeli	Rural	46	ОВС	DC	20	20	400	12	30	Draw of Lots	5	3
1334	At Tuman On Bhaisama Sakti Road (Tehsil Kartala)	Korba	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1335	At Village Mohbandha Under Lormi Tahsil	Mungeli	Rural	46	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
1336	At Village Khera Under Mungeli Tahsil	Mungeli	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1337	Within 3 kms either side of Shiv Mandir at Awapalli Tehsil Usur	Bijapur	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1338	At Village Singhapuri Under Lormi Tahsil	Mungeli	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1339	At Village Nirjam Under Mungeli Tahsil	Mungeli	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1340	At Village Palchua Under Mungeli Tahsil	Mungeli	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1341	Village Khada On Main District Road Between Sipat To Dhania On Right Hand Side While Going From Sipat To Dhania Under Masturi Tahsil	Bilaspur	Rural	72	sc	CFS	20	20	400	0	0	Draw of Lots	0	2
1342	At Village Karesara Under Mungeli Tahsil	Mungeli	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1343	At Village Temari Under Mungeli Tahsil	Mungeli	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4

												1	ı	
1344	At Village Ghorpura Under Mungeli Tahsil	Mungeli	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1345	At Village Lalpur Under Kota Tahsil	Bilaspur	Rural	46	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
1346	At Village Mahora Under Marwahi Tahsil	Bilaspur	Rural	72	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
1347	Sonsari Marg On Masturi Jondhra Road Tehsil Bilaspur	Bilaspur	Rural	46	Open PH	DC	20	20	400	12	30	Draw of Lots	5	4
1348	At Village Chamari Under Mungeli Tahsil	Mungeli	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1349	At Village Sonpuri Under Pathriya Tahsil	Mungeli	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1350	At village Gobrabhata tehsil Dabhara	Janjgir	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1351	At Village Dhotma Under Pathariya Tahsil	Mungeli	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1352	At Village Jota Under Pathariya Tahsil	Mungeli	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1353	At Village Junwani Under Pathariya Tahsil	Mungeli	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1354	At Village Kudri Under Pendra Tahsil	Bilaspur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1355	At Village Dindori Under Lormi Tahsil	Mungeli	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1356	At Village Pratappur Under Mungeli Tahsil	Mungeli	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1357	At Village Ghinouchi Under Marwahi Tahsil	Bilaspur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1358	At Village Semria Under Kota Tahsil	Bilaspur	Rural	46	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4

	I					1						T		
1359	At Village Pithampur Under Pendra Tahsil	Bilaspur	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1360	At Village Basamtpur Under Pendra Tahsil	Bilaspur	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1361	At Village Pipariya Under Pendra Tahsil	Bilaspur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1362	At Village Dahibahra Under Pendra Road Tahsil	Bilaspur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1363	At Village Tilora Under Pendra Tahsil	Bilaspur	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1364	At Village Khurshi Under Mungeli Tahsil	Mungeli	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1365	At Village Lalpur Under Pendra Road Tahsil	Bilaspur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1366	At Village Charbhanta Tahsil Mungeli	Mungeli	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1367	At Village Korbi Under Tehsil Bilaspur	Bilaspur	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1368	At Village Nimedha Under Marwahi Tahsil	Bilaspur	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1369	At Village Hardi Under Takhatpur Tahsil	Bilaspur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1370	At Village Sagar Under Takhatpur Tahsil	Bilaspur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1371	At Village Patharra Under Pathariya Tahsil	Mungeli	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1372	At Village Vedparsada On Masturi Malhar Road Under Masturi Tahsil	Bilaspur	Rural	72	sc	CFS	20	20	400	0	0	Draw of Lots	0	2
1373	At Village Nipaniya Under Bilaspur Tahsil	Bilaspur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4

1374	At Village Bhalapuri Tehsil Mungeli	Mungeli	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1375	At Village Bhojpuri Under Bilha Tahsil	Bilaspur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1376	At Village Bundela Under Bilha Tahsil	Bilaspur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1377	At Village Semardarri Udner Marwahi Tahsil	Bilaspur	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1378	At Village Dhangawa Under Pendra Road Tahsil	Bilaspur	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1379	At Village Baima Under Bilaspur Tahsil	Bilaspur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1380	At Village Limha Under Mungeli Tahsil	Mungeli	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1381	At Village Beljhiriya Under Marwahi Tahsil	Bilaspur	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1382	Within 1 km of Punjab National Bank Rengakathera branch at village Rengakathera Tehsil Mohla	Rajnandgaon	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1383	At Village Ghutku Under Takhatpur Tahsil	Bilaspur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1384	Vilage Barpali Tehsil Pusor	Raigarh	Rural	46	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
1385	Armarikalan Kosagondi Tahsil Gurur	Balod	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1386	Village Mahud(B) Tahsil Gunderdehi	Balod	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1387	Within 3 Kms from Padav Chauraha on Rajhara Mahamaya Marg under Tehsil Ambagarh	Rajnandgaon	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1388	On RHS within 2 Kms from junction of Tilai and SH 5 on jalbandha road towards Ghumka under Tehsil Rajnandgaon	Rajnandgaon	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4

1389	Village Sarangpur Tehsil Boadla	Kawardha	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1390	Mangchuva Kamkapar Tahsil: Daundilohara	Balod	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1391	Within 2 kms from Chhattisgarh Rajya Gramin Bank Mohla branch on Manpur Mohla Road towards Manpur under Tehsil Mohla	Rajnandgaon	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1392	Village Netam Tola Tahsil Ambagarh Chowki	Rajnandgaon	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1393	Village Dhaurabhatha Tahsil Rajnandgaon	Rajnandgaon	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1394	Within 3 Kms from Khairagarh Jai Stambh Chowk on Dhamdha Road under Tehsil Khairagarh	Rajnandgaon	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1395	Village Bamhniidh (not on Highway)	Mahasamund	Rural	72	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
1396	Within 2 km from Chhattisgarh gramin bank odgi Tehsil odgi	Surajpur	Rural	46	Open CC 2	DC	20	20	400	12	30	Draw of Lots	5	4
1397	At Village Levai Singarpur Tehsil Bhatapara	Balodabazar	Rural	46	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
1398	Village Bhardakala Tahsil Gunderdehi	Balod	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1399	Within 3 kms from Banjari Maiya Mandir towards Daundi Lohara on Balod Lohara Road under Tehsil Balod	Balod	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1400	Within 2 km from Kabutari bazar Koda Tehsil Khadgawan	Surajpur	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1401	Village Panduka on Dongargaon road under Tehsil Chhuriya	Rajnandgaon	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1402	Within 1 Km From Bijalhava Chowk Towards Narmadapur Road Tehsil Mainpath	Surguja	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1403	At Village Tilkeja Tehsil Kartala	Korba	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3

						1						T		
1404	Village Dakaipara (not on NH) Tehsil Korea	Koria	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1405	Within 1 km from PKCL mining entrance gate salhi on Parsa Keta Raod Tehsil Udaipur	Surguja	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1406	Village Naugai Tehsil Sonhat	Koria	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1407	At Village Anjani Under Pendra Road Tahsil Bilaspur	Bilaspur	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1408	Village Purur (not NH or on Shantipur Road) Tehsil Gurur	Balod	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1409	Village Deori on Narayanpur Bhatapara road Tehsil Bhatapara	Balodabazar	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1410	Village Panduka (Not on Dongargaon Road) under Tehsil Chhuriya	Rajnandgaon	Rural	46	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
1411	Village Kopra(not on NH and SH) Tehsil Rajim	Gariyaband	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1412	Village: Dhaurabhatha Tehsil: Saja	Bemetara	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1413	Village Bahera Tehsil Bemetara	Bemetara	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1414	Village Purgaon Tehsil Bilaigarh	Balodabazar	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1415	Between Bilaigarh to Govindban Tehsil Bilaigarh	Balodabazar	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1416	Village Parpodi (not on SH) Tehsil Saja	Bemetara	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1417	At Village Rahadih on Rahadih Talapar Road Tehsil Pali	Korba	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1418	Village Deokar (On Deokar Aja Road) Not On SH Tehsil Saja	Bemetara	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4

20 20		DC	OBC	46	Rural	Bemetara	Vilage Bhoina bhatha Tehsil Bemetara	1419
20 20	:	DC	Open	46	Rural	Raipur	At Village Nagargaon Tehsil Raipur	1420
20 20	5	CF:	ST PH	72	Rural	Janjgir	At village Kirari on Sakreli Kirari road Tehsil Sakti	1421
20 20		DC	ОВС РН	46	Rural	Bemetara	At Village Singhauri (not on SH) Tehsil Bemetara	1422
20 20		DC	Open	46	Rural	Janjgir	At Village Khisora tehsil Baloda	1423
20 20		DC	Open	46	Rural	Janjgir	At Village Birgahni tehsil Champa	1424
20 20		DC	OBC	46	Rural	Dhamtari	At village Mohlai Tehsil Nagri	1425
20 20	5	CF:	ST	72	Rural	Janjgir	At village-Sarwani Tehsil-Champa	1426
20 20		DC	Open	46	Rural	Janjgir	At village Dataud Tehsil Jaijaipur	1427
20 20		DC	Open	46	Rural	Janjgir	At village Bhothiya Tehsil Jaijaipur	1428
20 20	:	DC	OBC	46	Rural	Kanker	Within 1 KM from Church at Narharpur towards Dhamtari (on Narharpur Dhamtari Road) Tehsil Narharpur	1429
20 20	5	CF:	SC	72	Rural	Janjgir	At Village- Kapan tehsil-Akalatara	1430
20 20 20 20 20 20 20 20 20		DC DC	ST Open Open OBC	72 46 46 46	Rural Rural Rural	Janjgir Janjgir Janjgir Kanker	At village-Sarwani Tehsil-Champa At village Dataud Tehsil Jaijaipur At village Bhothiya Tehsil Jaijaipur Within 1 KM from Church at Narharpur towards Dhamtari (on Narharpur Dhamtari Road) Tehsil Narharpur	1426 1427 1428

[#] Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available at a cost of Rs. 100/- from the

APPLICANTS, IN THEIR OWN INTEREST, SHOULD CAREFULLY GO THROUGH THE "BROCHURE" AND UNDERSTAND CONDITIONS OF SELECTION BEFORE SUBMITTING THEIR APPLICATION. Application for RO dealership along with online payment of Non-refundable application fee, as applicable (detailed below), should be submitted on-line by 12/01/2019.

Type of RO	Type of Site	Category	Application fee in	Type of RO Site	Category Application fee
	ione		IKS.	ı iəlle	i ion iee

^{*} The site should either be Owned or on lease with applicant for minimum XX years or Applicant should have firm offer for the same.

Regular RO	CFS	SC/ST	3000	Rural RO	CFS	SC/ST	2500
	CC	OBC	5000		CC	OBC	4000
	CC	Open	10000		CC	Open	8000
	DC	OBC	5000		DC	OBC	4000
	DC	Open	10000		DC	Open	8000

"If the minimum dimension mentioned here is different from the minimum dimensions mentioned by the State Authorities, then the dimensions applicable on the date of advertisement for the state, as given by the authorities will be treated as minimum required dimension. The minimum dimensions mentioned in the advertisement here is for the purpose of eligibility criteria. However, for better layout, positioning and construction of facilities, better maneuverability of vehicles, better customer convenience which is likely to give better sales, bigger plot sizes of about 35 m x 35m would be preferable for other than NH sites."

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above.

The tenure of the dealership shall be for an initial period of <u>xx years and renewable every xx</u> years thereafter.

This is only a notice inviting application for allotment of RO dealership and not an offer of RO dealership.

The Corporation reserves the right to cancel/withdraw/ amend this advertisement or extend the due date at its sole discretion without assigning any reason.

In case of any discrepancy in advertisement published in English News papers vis a vis vernacular dailies, the direction/information indicated in English paper would prevail. Similarly, contents of Brochure in English will be final and will prevail upon in case of any

For purchase of Brochure and any information with regard to the advertisement, candidates may contact the following address:-

For District	Divisional Offices Address			
Gariyaband,Balodabazar, Surajpur, Korea, Jashpur, Surguja, Durg, Mungeli, Bilaspur, Kanker, Bastar, Dantewada, Dhamtari, Kondagaon, Sukma, Janjgir-Champa, Korba, Mahasamund, Raipur, Raigarh, Kawardha, Bemetara, Balod, Bijapur, Narayanpur, Rajnandgaon, Balrampur	Chief Divisional Retail Sales Manager, Indian Oil Corporation Ltd (MD), Raipur Divisional Office, Indian Oil Bhawan (VIP Road), Rajiv Gandhi Marg PO:-Ravigram, Telibandha,, Raipur(C.G). Pin-492006, Contact No. 0771-4313039.			